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43 pEey=N2 M 2D

B GURBAES (SN LS/ HLLA - OfF)

Crol: BE 2o Crol: A
Al 32 ‘:’A—I X XH [:l-ol(:l);”) A-”‘:‘Al.o-l HAXZ A} OH @Lj_l‘:_ =}
== ° T R B i o ) ° . = * dos =5 O:H{ﬂ,% ==

OdilH MAZ2RX S 2Hl 19,470,000 * 14 19,470
OdlH =&l 50,000& * 39 * 59« 8,850
O=2Ma Xtz 4,150,000& * 14 4,150
O=&Hl Xtz 2,490,000& * 14 2,490
Odil 2el=22 9 gz
4,150,000& * 14 4,150
02 22234l 35,640 40,000 A4,360
oIz 1,264,000& * 14 1,264
O&otl=Ex 4,000,000& = 14 4,000
O8stx =Hs 3,000,000& = 14 3,000
(@)=3=18%1 249,000& * 14 249
Odiy 2tel=8 /7X2eltl
6,972,000& * 14! 6,972
OdilH AFRE sA22lHl 2,490,000 * 14 2,490
O=xE &M 5 72l
3,490,0002 * 14! 3,490
OMNELEHIOl SXB2IHl 5,320,002 * 14 5,320
ORIl 5 SAFH BNBEY)
1,385,000& * 14 1,385
Os=U 2,490,000 » 14 2,490
Ox4aoHI2EXHE S 2l
1,660,000 * 14 1,660
O==HZ32xHd RENU 3,320,000 » 14 3,320
202 (4 Hl 3,856 4,000 A144
01 =LA bI 3,856 4,000 A144
Odlfet 2 At =& 3,856,000& * 14 3,856
307 212t01& 120,000 120,000 0
05 2IZtRAEF 120,000 120,000 0
Offfe MAZ M4 o2t
120,000,000 * 14 120,000
401 A EHIZ S b 190,000 210,000 20,000
01 Al&H| 190,000 210,000 A 20,000
ZEGHE MI|BA 30,000,000& * 14 30,000
OZEoiH SaIA 20,000,000& * 14 20,000
OZZEolH &=EIA 30,000,000& » 14 30,000
ORI M 22[(&HI})
10,000,000 * 14 10,000
OZXEdiH Ald=2 4Xx & &l
100,000,000& * 14 100,000
405 KH&HFE SHI 10,000 10,000 0
01 &L SSFSHI 10,000 10,000 0
Odffet FAEH 2 10,000,000 * 14 10,000
e 2 (K2R 96,000 62,500 33,500
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42 B M BB
B HURBAE(SYHLSL/HYSL - OfE)

Do 29 (el &H)
A BB ER(E) - HRAY - B S O] &k o8 e =2
301 et as 96,000 62,500 33,500
12 JIEH2 A2 96,000 62,500 33,500

OUBZEN SA(ZE, SVUS)
7,000,00080 * 14! 7,000
O1197 2t S4(BZ, 8¢S)
5,000,000 * 14! 5,000
OHZ2LX SA(FE, S8S)
10,000,000& = 14 10,000
Ol SAEHH =4 4,000,000 * 14! 4,000
O=HAFRA SA(E)
50,000,000& * 14l 50,000
Ox4oFRA B4 (SHS)
20,000,002 * 14! 20,000
Y 2R (SHS) 740,313 685,601 54,712
101 Q14| 330,003 320,601 9,402
VIEESTEESI=I-F 330,003 320,601 9,402
OxsolgTEoe oAy
50,000& * 80H * 45 180,000
OStTA, HHPL S oIyl
41,8008 63 » 45¢ 118,503
Ol E M C<0I(0IZHI0IE)
35,0002 * 20 = 452 31,500
201 LEH2 | 85,810 100,000 A 14,190
01 AtE22/Hl 58,100 70,000 A 11,900
O==28s 26,311,000& * 14 26,311
(OFE=4si 6,723,000& » 14| 6,723
oA e 6,723,000 * 14! 6,723
OAtEH 7,387,000& * 14 7,387
og=H 7,138,000& * 14! 7,138
OxEs 1,079,000& * 14 1,079
Oos8s 1,162,000& * 14 1,162
Odes 415,000& * 14 415
OIS 1,162,002 * 141 1,162
02 Z&==2234l 27,710 30,000 22,290
o285 11,639,000& = 14| 11,639
(OFg=4si 3,233,000& * 14! 3,233
O=AHdY 3,695,000& * 14 3,695
O el 2,956,008 * 14! 2,956
o= 3,233,000 * 14l 3,233
OxEs 739,000 * 14 739
OEE-E 646
Od=Es 923,000& * 14 923
OFES 646,008 * 14! 646

[
N
[
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BELN=N= SN 2sE D
SSEAES L SH(SHLDB/25H012)
S2HIHL =y (Sl &)
- _ _ Muo
CEN I SR(EH) - NRAY - BAS 0 & 24 e HRE2
=1t 12,846,938 14,575,225 ~1,728,287
2 2,193,018
| 20,000
= 241,350
= 1,387,929
Al 9,004,641
SEAXS ¥ SH(SHLBB/250S) 6,864,663 7,977,325 A1,112,662
o 20,000
= 241,350
= 493,500
Al 6,109,813
s=2amENy =g 2,047,000 2,059,300 £12,300
= 92,350
= 435,500
Al 1,519,150
230s 1F 2S 15,800 20,500 A4,700
201 L2 800 500 300
01 ALR eIt 800 500 300
O2snRes 2249 NN
100,000 * 83| 800
307 eI2H0IE 15,000 20,000 A5,000
02 PIYMBE 15,000 20,000 A5,000
OzYos 2= I SHMEE DE
7,500,008 * 23l 15,000
AS9 o YA 397,500 587,000 189,500
307 2I2H0IE 397,500 587,000 189,500
04 BIFALE X 397,500 557,000 159,500
Oz 25 50,000,000 * 14! 50,000
OslHas 25tH 20,000,002 * 14} 20,000
Od4 ARl MY 23t A
36,000,0002 * 14} 36,000
OHMU2AL THalIH L st& A OILt
30,000,0002! * 14! 30,000
OMLRN SASM(HZSHS)
50,000,002 * 14} 50,000
OfIEel THX X 1,500,0002! * 14! 1,500
OE-TUEESS 200,000,008 * 14} 200,000
OLSHW NYSDHY N2
10,000,0008 * 14} 10,000
32010/ P A 360,000 400,000 40,000
= 180,000
Al 180,000
307 BI2HOI 360,000 400,000 40,000
= 180,000
Al 180,000




A 2AFEI=ERXN= 2A 230z
. 2= AEYE € 5 22 /230 E)
¢°e: ZEZAEFMY &
A2 =2 HH . (5 - MIEAIY - BHA2 Al OH dE e
== ° T iy o L) ° T NS oS =5 &= 04| AFOH
02 Q2B AEX 360,000 400,000
O=30/0] 27 360,000,000& * 14 360,000
& 180,000
Al 180,000
ZsHd 29 .83 X 215,000 100,000
301 LetEA3 15,000 0
10 At HI 242 15,000 0
OXIEHFIEAl I M FHA Q122 A
15,000,000 * 14 15,000
307 QI2t0l™ 130,000 100,000
02 SI2tZASE X 130,000 100,000
Osgu=sd 29 50,000,000& * 14 50,000
Os=BMIsA 29 50,000,000& * 14 50,000
OBIUMNLY WEGEHE DR (WEE
&32) 30,000,000& * 14 30,000
402 DI2tX 201 M 70,000 0
01 SIZtGEEX 70,000 0
O3 AMgY B OUPSE=RS =)
70,000,000& * 14 70,000
HESW 2IINMSEE 2,700 2,700
= 1,350
Al 1,350
307 QI2t01™ 2,700 2,700
= 1,350
Al 1,350
04 QUIZHAIE X 2,700 2,700
oJlgd(2d) 2,700,000& * 14 2,700
= 1,350
Al 1,350
2E HdEA X 40,000 40,000
307 QI2t01A 40,000 40,000
04 SItHAIE X 40,000 40,000
OLE N ALK 20,000,000& * 14 20,000
O&EE M ALK 10,000,000& * 14 10,000
OMEHM ALK 10,000,000 * 14 10,000
ZoE AHESAE 205,000 205,000
= 88,000
Al 117,000
307 BI2t0l ™ 205,000 205,000
= 88,000
Al 117,000
02 QI2+AAME X 205,000 205,000




A 2AFEI=ERXN= M 230z
I 2oz A=d £ S4(2sL2/2s0=)
A EE}EME =E (e E2
=] X EH . ClO (5 S AL . HA 2 Al OH HEE =2}
OR2sesd 2gtl(2d)
145,000,000& * 14 145,000
= 58,000
Al 87,000
OXS 23 AtHI(23)  60,000,0002 * 14 60,000
= 30,000
Al 30,000
NS EZ3E A 380,000 93,500 286,500
307 QI2t01A 180,000 73,500 106,500
02 GI2tAAMEX 180,000 73,500 106,500
ONgZat Al 13,000,000& * 14 13,000
OIS EES & 22,000,000 * 14] 22,000
oojelol2stal mE=,
10,000,000& * 14 10,000
OZA0HWOLEHEH AFZ 100,000,000 * 14! 100,000
OouEy MlolLt
15,000,000& * 14 15,000
OREEZMHE StNRSzsns)
20,000,000& * 1A 20,000
402 QI2HXH=01A 200,000 20,000 180,000
01 SIZtGEEZ 200,000 20,000 180,000
O AU BOIEMEH OFgd & =8 A&
200,000,000& = 14 200,000
NEZsHE MY 2g9X& 11,000 14,000 A 3,000
= 5,500
Al 5,500
307 QI2t01A 11,000 14,000 A 3,000
= 5,500
Al 5,500
02 QIZtBAE X 11,000 14,000 A 3,000
OXNY 25 AL 2AX A
11,000,000& * 14 11,000
& 5,500
Al 5,500
NL233 ANEES 200,000 0 200,000
& 200,000
402 QI2tXH=01A 200,000 0 200,000
& 200,000
01 QA GEEX 200,000 0 200,000
OZE=AAE c|ZLLH I A
200,000,000& * 14 200,000
& 200,000
Follzus M2 24 48,000 27,000 21,000
307 QI2t01™ 48,000 27,000 21,000




A 2AFEI=ERXN= M 230z

I 2oz A=d £ S4(2sL2/2s0=)

ool US2SFML = (ctol &l
Al .2 . M . (5 HEAS . HAH2 A} OH HEE Hl o =2t
= T—l.o—l'LTl(glﬁl). -”_I_ |'\:|';Oﬁ 0:“\_—| 0:”/&,% |J-|-6C1

02 QIZtBAE X 48,000 27,000 21,000
OR3llzns M2y
1,000,000 * 49 » 12& 48,000
Zastn 29 6,000 12,000 26,000
= 3,000
Al 3,000
307 2I2t0l™ 6,000 12,000 A 6,000
= 3,000
Al 3,000
02 QIZtAAMEX 6,000 0 6,000
O=2stety 2g(24d) 6,000,000& = 14 6,000
= 3,000
Al 3,000
MAIS S Ol A 90,000 90,000 0
& 15,000
Al 75,000
307 BI2t0l ™ 90,000 90,000 0
& 15,000
Al 75,000
04 CIZFHALE X 90,000 90,000 0
OdAILE0l=0A 90,000,000& » 14 90,000
= 15,000
Al 75,000
SlRolEE AR 70,000 60,000 10,000
& 35,000
Al 35,000
307 gI2told 70,000 60,000 10,000
& 35,000
Al 35,000
04 CIZFHAE X 70,000 60,000 10,000
Odlzd - sidas A3 70,000,000& * 14 70,000
& 35,000
Al 35,000
ZHEZSENLEY 2ZZHI 6,000 5,600 400
202 O4H| 4,000 4,100 A 100
01 =LA bI 4,000 4,100 A 100
OLEEHENY &8 2ZZH|
4,000,000& = 14! 4,000
203 R F&d| 2,000 1,500 500
03 AIMFEZRFEH| 2,000 1,500 500
OZF0=AHZ=A 2,000,000& * 14 2,000
Zsll=gs XA 1,121,200 1,039,725 81,475
J| 20,000
& 58,000




ax 2FEE=EN= A 230z
HE: SHUSTAZY L S5 (2HLVY/2S50S)
Zsttl=gs N (etel: =3
- _ _ Muo
2.RN I S(EH) - NRAY - BAS o i {imE=Eh
Al 1,043,200
s 2el 8,900 7,500 1,400
201 LEH2HH| 6,500 6,500 0
01 AtR2t2itl 6,500 6,500 0
ONgEH=s8s ZHIYX 3,000,0008 * 14 3,000
OssglEsHs Sl 500,000 * 14| 500
»ed WE WM M 1,500,000 * 23 3,000
202 (4Hl 1,000 1,000 0
01 WY 1,000 1,000 0
»sS AL IO
100,000& = 29 = 53| 1,000
405 AHoHESHI 1,400 0 1,400
01 TR =S FH SHI 1,400 0 1,400
OfRsgNEHS It 2
400,000 * 14| 400
ORsSdY A& 88 =2 7
1,000,000& * 14 1,000
H==Zstasid 458,000 512,400 Ab54,400
201 etEE] 6,000 9,400 A3,400
01 AtR2teld] 1,000 1,000 0
O=2st0=dAL EL2 S92 M=
100,000& = 102 1,000
02 2323l 5,000 8,400 23,400
O&ss3¢d dJIg 5,000,000& * 14 5,000
307 2120l & 447,000 503,000 56,000
04 BIZHHAIE X 447,000 503,000 A 56,000
K403 2EM==d 30,000,000& * 14 30,000
FAdE Boi==H 10,000,000& = 14| 10,000
Jdelagiotet 3dgs X2
20,000,000& =+ 14 20,000
OHMI18el 8= Atdl S2d
10,000,000& = 14 10,000
OHM11g e=d=sd 10,000,000& * 14 10,000
OHI192l Al AHE 15,000,000& = 14| 15,000
OHMi21el EaEse I/ F3
2,000,000 * 14 2,000
Ol 12z dsd=&Z3tM  5,000,000& * 14 5,000
OHM6=l X Z80I=H  20,000,000& * 14 20,000
SUHS 3N 3,000,000& * 14! 3,000
Ox23st 2&X 10,000,000& = 14 10,000
&= el HEte d=03
20,000,000& =+ 14 20,000
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R EWES SN 28tz
Hal: PHUSEATY U S5 (SHUDY/25002)
ool 2sEES X (e @
_ _ N e =
A= 2N -SA(SH) - NRAY - BE=Z Ol &+ 9K Ol AF o8 HwsZ
ORI27sl Z2eI2 S (H2EH A0 A)
34,000,0008 * 14! 34,000
OYTE H8t81= A HAEY
100,000,00021 * 14} 100,000
OXI408 ONSATXIS 3,000,0008 * 14! 3,000
OJIEt 230 =3 A 20,000,008 * 14! 20,000
ORX183l Hlz=2ststn 29
5,000,0008 * 14! 15,000
ORE .2 202l tl=A
10,000,0008 * 14! 10,000
ORI3E YSAMAIZ TR
10,000,0008 * 14! 10,000
ORm2s HIEH 100,000,00021 * 14} 100,000
401 AEHI2L 20 5,000 0 5,000
01 Al&| 5,000 0 5,000
O2STAF ALES 5,000,008 * 14! 5,000
DIEZAZAO9I2 3 3, 150 1,890 1,260
201 Ygreg| 3,150 1,890 1,260
01 AtR2elt| 3,150 1,890 1,260
ODIEFANOPI RG] BHaSg
70,0008 * 9 * 53] 3,150
23 FIEEE 24 9,800 12,800 A3,000
301 YBrEAZ 9,800 12,800 3,000
10 BAAHIE A2 9,800 12,800 A3,000
OUEHEE B4 250,0008 * 20% 5,000
OURAZH FIt2 At 180,0002 * 109 1,800
OUASHAAUS HIHBH
10,0008 * 202 2,000
OUATELINQH BIH2H
100,0002! * 109 1,000
MSISH XA 29 180,000 79,000 1,000
307 212+0IH 180,000 179,000 1,000
03 AISISHHI 2 X3 180,000 179,000 1,000
OAMBISHHEES 180,000,00021 * 14} 180,000
BECH Ol =X 80,000 120,000 240,000
307 2I2+0IH 80,000 120,000 40,000
04 QIABALRE 80,000 120,000 40,000
ObtCH =X 80,000,008 * 14! 80,000
220122 222y 57,000 82,535 25,535
201 Ygreg| 2,000 7,535 A5,535
02 ZZ2Y| 2,000 2,000 0
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A= 2FES=EXZ 2N 230=1
HH: BIU=SATYE L 4 (2stL2Z/250=)
Zottiz=as X (ctel: &
2.2 B OS(E) - NRAY - BAS B Hlm= 2
Oil &k o8

O&IItEE LT 1,000,000 * 14 1,000
OAl & EHI= Xl 100,000& * 103l 1,000

307 212t01& 55,000 55,000 0

04 QUZFHAE X 5,000 5,000 0
OZE0I=&I2EA 5,000,000& * 14 5,000

05 CIZtRAEZ 50,000 50,000 0

OZ S0l Q2CHES

50,000,000& * 14 50,000

SHMELAGH=SA 100,000 120,000 A 20,000
& 50,000
Al 50,000

307 212t01& 100,000 120,000 220,000
= 50,000
Al 50,000

04 CIZFSALE X 100,000 120,000 220,000
(OF=ENTIV-5-FS 100,000,000& * 14 100,000
& 50,000
Al 50,000

Z2EFJA0ICHHEHZSH 164,750 0 164,750

101 el HH| 80,450 0 80,450

04 JIZtMZ22XSE+ 80,450 0 80,450
OZantivdgz2g o=y 69,843
oJlz2a 75,7003 » 3% » 230 52,233
oFgg 75,700% * 3% » 46 10,447
cHXtY 75,7003 * 4% » 11 3,331
oAt 14,1902 * 90AIZt * 3Y 3,832
OANREX 212Y 10,607
oJllzag 34,900& = 1989 » 2309 8,027
oFgxg 34,900 * 19 * 46 1,606
cHXtY 34,9002 * 1" * 11 384
oAt 6,550& » Q0AIZ+ « 1H 590

201 LBt H| 49,300 0 49,300

01 AbR2t2lH| 22,100 0 22,100
O&EAEF & ¢ 800,000& * 14 800
T2 222 M 5,000,000& = 14 5,000
OEM & Xtz7d 2,000,000 = 14 2,000
Oaga T2 )aH ARt 5,000,000& * 14 5,000
OHEAMNEESEHI 1,000,000& * 14 1,000
OdFFHI +=2lyl 2,000,000& * 14 2,000
OZ22 X AL 200,000& = 12& 2,400
O= A Xt 150,000& = 12& 1,800
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a2 pEes=2 SN 280z
By 2HUSCATY 2 S4(2HULBT /230 2)
250z EE X (Erol: &2
: _ . e =
=24 ZH - HR(BH) - MEAY - ByS 0f Ao Sl ko HRE2
SEFEEEECES
70,0008 * 10¥ = 33 2,100
02 2323l 27,200 0 27,200
SLLIETPYE-1-] 250,0008 * 128 3,000
(@OFrspix=2 1,000,000& = 128 12,000
Oostl= 100,000& = 122 1,200
OAl & EHI= Xl 10,000,000& * 14 10,000
(OFSIRRIFSES = Rty 1,000,000& » 14 1,000
207 Ao 10,000 0 10,000
IEEEET] 10,000 0 10,000
OME CIMZY 001X PEAE
10,000,000& * 1A 10,000
301 EtEA = 10,000 0 10,000
10 BAHAHI S A3 10,000 0 10,000
OOICIRS 2A B4 10,000,0008 * 14! 10,000
401 Al&HI YL SO 15,000 0 15,000
01 Al&H| 15,000 0 15,000
Oafdat &9 Ald 7,000,000& = 14! 7,000
O2 A% Ael & Z2teIS &%
8,000,000& * 14l 8,000
SUHSHX ALY 40,000 0 40,000
Il 20,000
Al 20,000
307 QI2+0I & 40,000 0 40,000
Il 20,000
Al 20,000
04 QIHHAIE X 40,000 0 40,000
020102 HBAXEH =X 2
40,000,000& » 14 40,000
] 20,000
Al 20,000
HOl= 2= 16,000 0 16,000
= 8,000
A 8,000
307 212tol& 16,000 0 16,000
= 8,000
Al 8,000
04 QIHHALE X 16,000 0 16,000
OFODIE 2BS(23)
16,000,000& * 14 16,000
& 8,000
A 8,000
SHUEEN 28 A 3,600 3,600 0
202 014 3,600 3,600 0

_23_




22 23=2X =2 2M 230l
S0z AT ¥ S4H(2sYAZ/250s)
Sslol=&s XN (¢t &
SA - EHH .S (BH) - MBEAY - BAS Ofl A o4 gggf; HRS2
01 2| 3,600 3,600 0
O=2Fu=2sXd 2HFH|
3,600,000& = 14 3,600
A= 29 2,452,880 1,675,488 777,392
A= 29 43 2,452,880 1,675,488 777,392
201 LBEt2AH| 89,717 78,279 11,438
03 SHAI2EHI 89,717 78,279 11,438
Oogats MJ|Hx3 20 &X 3,000
ocRUAME MIE 3,000,000& = 14! 3,000
O&IIAFS 24 7,000& * 63H * 83| 3,528
OSEgdF3 24 7,000& * 63Y * 83 3,528
Ods2HA | 3,024
oHIIHFE HE 2HAH|
3,000& * 63H * 83| 1,512
oSYHAHFS HE 2HAH|
3,000& * 63YH x 83 1,512
OO0l 8«3 63,528
CcRUME M 7,000,000& * 83| 56,000
oHRAE X UXt 200,000& = 83 1,600
o8& XY AX 200,000& * 83 1,600
ol 8% 25t 100,000& * 83l 800
ogotsl EICH A
7,000% * 63 * 83| 3,528
Ouger sH &It 4,584
otRAALSE X AX
1,000,000& = 13| = 1CH 1,000
o8& X X
1,000,000& = 13| « 1CH 1,000
o EIIHA ZAH| 7,000 * 38H x 44] 1,064
o FIIHA =8ty| 40,000& = 38" * 18t 1,520
Otistol= =& gz =N 1,525
oEIIHA =& XYy Xt
1,000,000& = 13| = 1CH 1,000
o IR ZAH| 7,000& * 25 x 34/ 525
ONZF 2HEs FH 7,000
oEIIHA =& XY Xt
1,000,000& = 13| = 1CH 1,000
oEIIHA =5 3= 200,000& = 30 6,000
301 EtEAZ 2,344,963 1,580,209 764,754
1 =t - 2SESEA2 2,344,963 1,580,209 764,754
OANgU=s =20 1,326,600
o X & At 36,000,000& * 2H 72,000
oUt=It &4&E HRHE 25,800,000 = 3H 77,400
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N-E3H S (2H) - MRAY - BES

-

o4 AlChe 22,800,008 * 9 205,200
opicte 18,000,008 * 52 936,000
CMACE HE 8,000,008 * 2% 36,000
o2 16,200

CBIETN oY HRF
150,008 * 3% * 122 5,400
o%Alchel 10,0008 * 98§ * 12% 10,800
ool Eel+Y 30,0002 * 36% * 128 12,960
OotB@el+Y 30,0002 * 2% + 128 720
QAR 25 65,800
DY 1,000,000 * 4% 4,000
o4 Alchel 500,008 * 302 15,000
SN 300,008 * 13% * 123 46,800
OFOIX 24 33,000
CEOT AS 3,000,0008 * 5% 15,000
CEOIX B 2,000,0008 * 4% 8,000
cEXt 02 1,000,000 * 10% 10,000

ORVASNYE 23
1,362,600,00090 * 4.5% 61,317

OALBEANLE 232
1,362,600,0002 * 2.24% 30,523

ONBBEALE 23
1,362,600,0002 * 1.75% 23,846
O BB 2 1,362,600,0002! * 1% 13,626
O o Xl 2] 10,0008 * 10 * 43| 4,000
OANZIZH L2yl 72,871,002 * 14 72,871
OAZOIEE ofbl 10,000,008 * 14} 0,000

OURAHANE aD| BHIAN 4

4,000,0002 * 14! 4,000
OOz RS £Z 4,000,002 « 1A 4,000
Otz 2YAY +g 500,008 * 14} 500
OUlss ox= M 500,008 * 302 15,000
ooel g3 650,000,0008! * 14} 650,000
Xt &HF St 18,200
R USEH S| 18,200
Ol Y 500,008 * 20 1,000
OYLE PC 1,400,008 * 2CH 2,800
oges D 600,0002 * 2CH 1,200
o) 58 Ml 300,008 * 4CH 1,200
O%I 858 Ja)l 300,008 * 4CH 1,200
oYeg 400,008 * 2CH 800
oIl 7Y 10,000,008 * 14} 0,000
S5t20F SISO =5 1,243,583
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N3 pEes=X= R e
I 2oz A=d £ S4(2sL2/2s0=)
thel: 2320 SIEAN &= EEEEE]
A .S M. (5 H) - MEAMY - BHAS O] Ak OH &EIE Hn=2
= iy o L) ° T NS oS =5 &= 04| AFOH U=sa
= 149,000
Al 1,094,583
CHztgdenZ Hiotolofo1 el &4 215,883 586,712 A370,829
101 eIl 14,883 14,112 771
04 JIZtHZ22XNSE+ 14,883 14,112 771
OXESZIE &2 €& o2 14,883
SRt 41,8003 » 1% * 230 9,614
oxgd 41,8003 + 19 = 46 1,923
oAXtg 41,8003 » 19 = 11 460
o A2t 7,840 = 8AIZ2E * 46 2,886
401 AIEHIZ 2 201,000 572,600 A371,600
01 Al&HI 200,000 562,600 A 362,600
ONY FNE XA Y T HHAL
200,000,000& * 14 200,000
03 Al =20HY| 1,000 10,000 A 9,000
OAlZ 20| 1,000,000 * 14 1,000
2Egllg ZAXH 149,000 380,000 A 231,000
= 149,000
401 AEHIZ2OHb] 149,000 380,000 A231,000
= 149,000
01 Al&HI 149,000 380,000 A231,000
O2E sAIERY Za(2)
149,000,000& * 14 149,000
= 149,000
232 AHel 43 20,000 20,000 0
307 QI2t01A 20,000 20,000 0
04 QIZHAE R 20,000 20,000 0
OZ35t2 Hel A 20,000,000& * 14 20,000
28 88 AUR 2F U3 AY 8,000 0 8,000
201 etgh| 8,000 0 8,000
01 AbR2t2lH| 8,000 0 8,000
OZ8 & AUR 2K 222 ME
400& * 20,000% 8,000
25 OIEHH 2HE 444,600 0 444,600
201 22| 3,600 0 3,600
01 AtR2t2ldl 3,600 0 3,600
OOtEXMH 23 =%
100,000& * 129 » 33| 3,600
202 44| 3,000 0 3,000
01 =LHA b 3,000 0 3,000
Oyl 3,000,000& * 14 3,000
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0z N>
-

for fob

M0 Mo

= XM . Ctol (s = AbO oH S - =
301 LEEAZ 438,000 0 438,000
12 JIEtE 43 438,000 0 438,000
OBTLAIE HMISH&EA)HIE 24
438,000,000& * 14] 438,000
ol -old&ds 33 =4 250,000 300,000 A50,000
401 AIEHIZ 20 250,000 300,000 250,000
01 Al&H| 250,000 300,000 A50,000
OREZd =4 ZAM 250,000,000& * 14 250,000
NE3LS MAHMNE A 150,000 0 150,000
401 AIEHIZ 2 150,000 0 150,000
01 Al&t| 150,000 0 150,000
OXSIBYY HAIBHES
50,000,000& * 14 150,000
Z2t=0F otERIN &3 233l 6,100 6,100 0
202 (4 HI 6,100 6,100 0
01 =LA b 6,100 6,100 0
O23 20t st=AHES
,100,000& * 14 6,100
I 2EE=(2s2Z/23HM) 5,648,975 6,256,660 A607,685
= 2,193,018
& 894,429
Al 2,561,528
=M s - B - &l 5,134,552 5,731,308 A596,756
= 2,193,018
= 807,329
Al 2,134,205
SAALRl AFEX] =&Y 22| 50,000 60,000 A 10,000
201 et 5,000 5,000 0
01 AFR 22l 5,000 5,000 0
Os=Molkt EE2=2 WA 5,000,000& = 14! 5,000
207 AN Y| 15,000 0 15,000
01 A= S| 15,000 0 15,000
O LA EHl=d 28 89
15,000,000& * 14l 15,000
401 A &HIL 2048 30,000 40,000 210,000
01 Al&HI 30,000 40,000 A 10,000
OZALALX AFE XL 01 &
000,000& * 14 30,000
ot ¥ =8 2 F| 21,158 24,464 23,311
101 eI24H| 21,153 24,464 A3,311
04 JI2ZtMZ22XSE+ 21,153 24,464 A3,311




0z N>
-

fon
Jit
bl
H

for for
=22M

M0 Mo

2

20
R
J2H

O
Qb
C
M
o
0z
A=
@
e
u

Jon
B 4w

(ULEIY

0 0 0 0
=M M
il
to

O

Ho

ton

=

i

4

w0
By

1 X H

O_L

@]

)

41,800& » 1H » 230
41,8008 » 18 = 46

7,840 = BAIZ+ * 46

|
00& = 38 = 10&€ * 5IHA

41,800 = 1& = 11

14,883
9,614
1,923

460
2,886

6,270

= H W

411,429
288,000
61,714
61,715

500,000

A88,571

401 AIEHIZL 20

= Hn N

411,429
288,000
61,714
61,715

500,000

A 88,571

01 A&l
OEX e

OoXN&= A

380,429,000& = 14|

= HnH

30,000,000& = 14!

= H W

,000,000& * 14!

= N W

411,429
380,429

266,300
57,064
57,065
30,000
21,000

4,500
4,500

1,000
700
150
150

500,000

A88,571

b
o0
on
10

Bl

EX0H

= NN

411,429
288,000
61,714
61,715

500,000

A88,571

401 AIEHIZ R0

= HnH

411,429

288,000
61,714
61,715

500,000

88,571

01 Al£Hl
O=gREXN EX0HE

411,429,000& * 14

=z HnH

411,429

411,429

288,000
61,714
61,715

500,000

A 88,571

= HnH

140,000
70,000
21,000
49,000

140,000

402 QIHHE01M

140,000

140,000

_28_




0 Nz
L

o
J
>
W

o ton o
ZHZEM
HT 0
o ot
T
M

M0 Mo

2
W

0
x

N

u
i
0
ton
=
=
1
=
1%
e
0x
Jo

22
J2

=2
M
12

= H o}

70,000
21,000
49,000

140,000,000 * 14!

= HH

140,000
140,000

70,000
21,000
49,000

140,000

= H i

,350,000

700,000
150,000
500,000

1,142,858

207,142

401 AIEHIZL 20U

= Hn W

,350,000

700,000
150,000
500,000

1,142,858

207,142

0e
02
t
Pl
e
=}

Ju

1,000,000,000& =+ 14

(AIHIZ=Dt)

200,000,000& = 14|

150,000,000& = 14|

= H W

,350,000
,000,000

700,000
150,000
150,000

200,000

150,000

1,142,858

207,142

= H i

100,000
70,000
15,000
15,000

100,000

401 AIEHIZL 20U

I

= W

100,000
70,000
15,000
15,000

100,000

01 A&l

odd =3l

03 A&=20HYI
OAl2 204l

99,400,000& =+ 14

600,000 * 14!

= H W

= W

99,400

99,400
69,580
14,910
14,910

600

600
420
90
90

99,400

600

04

=W

200,000
140,000
30,000
30,000

200,000
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ZZ2M

ol ton Qi
fon
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W
il
x
H0
fon
2
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&

M0 Mo
HL o

o ot
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M
4> [0
- o
=)
=
08
Ho
o
=

2
W

OH
i

A

=

-

0
P
b
L
m
40
Ton
&
=
Sl
=
1%
g
0x
Jo
=
=20
i
12 H
o
£
0l
0y

401 Al HI YL S 200,000 0 200,000

140,000
30,000
30,000

= Hn W

01 A&l 199,400 0 199,400
Od= s FHEH 199,400,000& = 14| 199,400
139,580

29,910
29,910

03 A&S0HYI 600 0 600
OAl2 20l 600,000& * 14 600
420

90
90

= HnH

=MW

H
re
>
(U
{0
2
>
to
A
m
44
g
04
=

50,000 0 50,000
35,000
7,500
7,500

= HnH

401 AIEHIZ 208 50,000 0 50,000
35,000
7,500
7,500

= HH

01 Al£Hl 50,000 0 50,000
OEE&Hdel & A=&4l 50,000,0008 * 14 50,000
35,000

7,500
7,500

= H W

o

JQ
o
0
0
°c
10
1
£
04
=5

128,571 0 128,571

90,000
19,285
19,286

= H W

401 AlEHI LS HHI 128,571 0 128,571
90,000
19,285
19,286

= NN

01 A&l 127,071 0 127,071

OZdelegLIe = I

i

127,071,000& * 14| 127,071
88,950
19,060
19,061
03 A2 R04Hl 1,500 0 1,500
OAIZ 204 bl 1,500,000 * 14! 1,500
1,050
225
225

= H W

= H W

SMA 4EHAEY 2&Xc 50,000 0 50,000
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A= BRE25=X2 2N 230D
HH: 23 FEEE(2 /23HTH)
23 25 - 2= SRS
_ o FSJE
AZ SN FHH . SHR(3) - MBAY - BES Ol AF o8 HluS2
= 35,000
S 7,500
Al 7,500
401 Al&HIZL=ROHYI 50,000 50,000
= 35,000
& 7,500
Al 7,500
01 Al£HI 50,000 50,000
Q.S AKX & Xel
50,000,000& =+ 14 50,000
= 35,000
S 7,500
Al 7,500
=8 FHEH 150,000 150,000
= 105,000
e 22,500
Al 22,500
401 Al&HIZL=ROHYI 150,000 150,000
= 105,000
= 22,500
Al 22,500
01 Al&HI 149,400 149,400
O2=s =H 149,400,000 * 14! 149,400
= 104,580
= 22,410
Al 22,410
03 AI&Z20HYI 600 600
OAIZ 208l 600,000 * 14! 600
= 420
& 90
Al 90
HdnE 2n=d 214,286 214,286
= 150,000
= 32,143
Al 32,143
401 Al HI LS 214,286 214,286
= 150,000
< 32,143
Al 32,143
01 Al&H| 213,686 213,686
OdudE sus 213,686,000& = 14| 213,686
= 149,580
= 32,053
Al 32,0583
03 AIZ20i4l 600 600
OAl2 204l 600,000& * 14 600
=2 420
= 90
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2y
for
Jit
>
H

04 Nz
for for
=22M

M0 Mo

el

=1
R
121

90

= H W

6,000
4,200

360
1,440

6,000

401 AIEHIZL 20U

= N W

6,000
4,200

360
1,440

6,000

01 A&l

odcllgs(Ms)XgE=s

6,000,000& * 14

= H W

6,000

6,000
4,200

360
1,440

6,000

0z
4
A

= H W

150,000
105,000
9,000
36,000

300,000

A 150,000

401 AIEHIZL 20U

= N W

150,000
105,000
9,000
36,000

300,000

A 150,000

01 A&l

O2=E (CCTVE 2
=5 0)

03 A2 R04Hl
OAIZ 204 bl

= H W

1,000,000 * 14!

= H W

149,000

149,000
104,300
8,940
35,760
1,000

1,000
700
60
240

297,000

3,000

148,000

A2,000

= H W

19,383
13,568
1,163
4,652

19,383

307 Q12t0ld

= N W

19,383
13,568
1,163
4,652

19,383

02 QIZtFAEX

19,383,000& = 14|

= Hn N

19,383

19,383
13,568
1,163
4,652

19,383
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AR PBEHEX= SA 2z
M 25 dEBS (2L 2Z/25HM)
©“e: 2N B - 2= - 4l (ctel &
N MNEH . ClO (5 HEAY . HN 2 A} OH HdE T H =2
SRELIZSFMZAIZABEX 174,000 126,000 48,000
= 87,000
= 17,400
Al 69,600
101 el24H| 174,000 126,000 48,000
= 87,000
& 17,400
Al 69,600
04 JIZtMZ22XsE+ 174,000 126,000 48,000
OS2 MOI2ZEH 22 X B X
174,000,000& * 14 174,000
= 87,000
= 17,400
Al 69,600
ZoHEE 22U ALY 17,501 0 17,501
= 12,250
= 1,050
Al 4,201
101 el24H| 17,100 0 17,100
= 11,970
& 1,026
Al 4,104
04 JI2ZtMZ2=e s 17,100 0 17,100
OJI2ZtHZ22Xs B 17,100,000& * 14 17,100
= 11,970
& 1,026
Al 4,104
206 M=l 401 0 401
= 280
& 24
Al 97
01 =4I 401 0 401
O Z 8l 401,000 * 14 401
= 280
& 24
Al 97
NEZS E+ L X2 100,000 200,000 A 100,000
401 AIEHIZ 2O 100,000 200,000 A 100,000
01 Al&H| 100,000 200,000 A 100,000
OXEEZSM B & A 22| 100,000
oXNEZ3M = 90,000,000& * 14 90,000
oM oHLHE F| 10,000,000 * 14! 10,000
NE23M &2 35,900 41,086 A5, 186
201 LEr23| 15,900 21,086 A5, 186
01 AtSR2t2ldl 1,000 1,000 0
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A 2AFEI=ERXN= M 230z
M 23N A (2L 2Z/23M)
SN 25 - 24 - | (ctel e
2B N .G (B NEAMY . BH2 Al OH HEE Hl =2+
O2zaddeAy XL 22X Xz
1,000,000& = 14 1,000
02 23234l 14,900 20,086 A5,186
O3322Y% HA 14,900,000& * 14 14,900
301 et A3 5,000 5,000 0
12 J|EtE &= 5,000 5,000 0
O THESEHIIAAA AtAE &
5,000,000& = 14 5,000
307 QI2tol™ 15,000 15,000 0
02 QI2ZtBAE X 15,000 15,000 0
OLEAl Qi 2| 2
15,000,000& * 14 15,000
=E F=HAIZ ZEEAY 700,000 2,000,000 A 1,300,000
401 AIEHIZRb] 700,000 2,000,000 A 1,300,000
01 Al&H| 655,000 1,700,000 A 1,045,000
ORSEAZ 2L ('09E0IRER)
655,000,000& * 14 655,000
02 2eltl 45,000 300,000 A 255,000
OZeldl('09H0IfEE)  45,000,000& * 14 45,000
HS 2 HF=HZHISA 500,000 0 500,000
= 250,000
Al 250,000
401 AIEHIZ 2 500,000 0 500,000
& 250,000
Al 250,000
01 Al&HI 499,000 0 499,000
OS2 F=HEUIZBA
499,000,000& * 14 499,000
= 249,500
Al 249,500
03 Al =20HY| 1,000 0 1,000
OAlZ 208l 1,000,000& = 14 1,000
= 500
Al 500
SOLAL StE A A=Z A 150,000 0 150,000
= 100,000
Al 50,000
402 212t X201 150,000 0 150,000
& 100,000
Al 50,000
01 QU222 X 150,000 0 150,000
O IJtAL SHE A A= 3 AL
150,000,000& * 14 150,000
T 100,000
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A 2AFEI=ERXN= M 230z
M 23N A (2L 2Z/23M)
M 25 - 2 - FHI (e E2
S . M. OO (5 HEAY . A2 S Hl =2+
| A 50,000
ZoM 23 .24 . FHAIY 23 3| 4,900 4,900 0
202 O4H| 4,900 4,900 0
01 =LHO b 4,900 4,900 0
O23 M B35 .24 .84 24934l
4,900,000 * 14 4,900
SEZSE= 514,423 525,352 A 10,929
& 87,100
Al 427,323
A= @53 NA 118,200 120,600 A2,400
& 59,100
Al 59,100
301 LEEAZ 118,200 120,600 A2,400
& 59,100
Al 59,100
12 JIEt2 43 118,200 120,600 A2,400
OREZsMES2 N 118,200,000& * 14! 118,200
= 59,100
Al 59,100
PEIRITH(SMEAL) S 16,000 16,000 0
& 8,000
Al 8,000
307 gI2told 16,000 16,000 0
& 8,000
Al 8,000
02 QIZtAAE X 16,000 16,000 0
ORI MESESAE(2A)
16,000,000& * 14 16,000
& 8,000
Al 8,000
SEHQHNEES XN 40,000 40,000 0
& 20,000
Al 20,000
307 QI2t01A 40,000 40,000 0
& 20,000
Al 20,000
02 BI2tAAEX 40,000 40,000 0
OLEHLHNEESIXA 40,000,000& * 14 40,000
& 20,000
Al 20,000
INE 22t 23| 100,000 203,045 A 103,045
401 AIEHIZ 20 100,000 200,000 A 100,000
01 Al&H| 100,000 200,000 A 100,000
OHIXNEZSM RX 2=+
100,000,000& * 14 100,000
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0z N>
-

M- EE .S (3) - HRAY - Ba= e =2
FEERAM ds g3 K& 159,000 45,000 114,000
gIztold 159,000 45,000 114,000
DItAANE X 76,000 15,000 61,000
Od=0s 22€) dsXE
5,000,000& = 14 5,000
OYS=o & 84 N
20,000,000& = 14 20,000
OoXdgsodt &8s 4 XN
51,000,000& =+ 14 51,000
QIZHHALE & 83,000 30,000 53,000
O&= sts2A=M &0t XN&A
30,000,000 =14l 30,000
OZ2eEM==HM &It A&
30,000,000& * 14 30,000
O&= =243 &It XA
20,000,000& * 14 20,000
OZ=2 dEHOIx #HALKIA
3,000,000& = 14 3,000
2l 23 78,823 78,307 516
oI24d| 13,473 14,767 AN1,294
JIZHZ22NSEs 13,473 14,767 AN1,294
OZAsIIga 2e 29 242 12,428
=JlE2s 34,900& * 198 * 230 8,027
oFFd 34,900& » 18 » 46 1,606
ocXAHI< 34,900& » 1H = 11 384
oAt 6,550& » 8AIZ2+ » 46 2,411
Ocigold&s Jlgat =8 Zdl 2RY
41,800& » 5% « 5 1,045
22| 55,350 58,540 A 3,190
AP 2telHl 11,850 14,400 A 2,550
O =MI] d==2|2 1,000
cEE= M 1,000& * 1,000% 1,000
OZAsIIg2 2e| 29 5,800
ocEEE MH 1,000& = 3,000% 3,000
ocHAEY 200,000& = 12& 2,400
oIl =l 400,000& * 14 400
Odlz sidas|ga 22 29 3,800
cEEE ME 1,000& * 3,000% 3,000
oM IISE #E 400,000 * 14 400
= Il £ 4| 400,000 * 14 400
OJ1ga Jlet 234l 1,250,000 * 14 1,250
33234l 43,500 44,140 A 640
oIz 20,400
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= = =q| ) ] < ) i < r ) k0 ® | oK
o |=< ol < < ilor < < ol e} < w o< N == =]
. 0 0 0 0 0 0 0 0 0 0 < 0 0| = |w
< O =z |=
Ik wm
mr
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A= BRE25=X2 2N 230D
MM 25 FEBZ (2SS L2Z/25H)
chel: HERSYR (e E)
Al . B8] . X [:+0|(=|j4|) NEAY . HA2 0] AFOH &EIE Hmn=2
= - o7l (2] . - = oS =5 o= 0:”/&,% WSsSa
SIERIUBAIY 2P A 2,400 2,400 0
202 OfH] 2,400 2,400 0
01 2o 2,400 2,400 0
OSESFLZAY 2L A
2,400,000 * 1Al 2,400
HHSAAHI (2H0l=1) (IIEHDIE 33,300 41,240 A7,940
ol 2| 3,000 4,200 A 1,200
ol 23| 3,000 4,200 A 1,200
203 2= 3,000 4,200 A 1,200
04 BNR2IARFZH| 3,000 4,200 A1,200
OBANRYE g2 =3 250,000 * 12& 3,000
Jl=AH| 30,300 37,040 AB,740
Jl=AH| 30,300 37,040 AB,740
201 LEt2HH| 20,700 25,740 A5,040
01 AtRZt2lH] 20,700 25,740 A5,040
OgBta=2H| 13,500
oMM AIR 2 EH| 5,000,000 * 14l 5,000
oA XY 22/l 3,000,000 * 14l 3,000
oJ|Et LBt 3,060,000 * 1Al 3,060
o2AE T AHIRY 250,000 * 43 1,000
oAE NE RE2 30,0008 % 4F * 12€ 1,440
O= | 7,200
ol|l2 A28 OHAIH 7,200,000 * 1Al 7,200
202 OdH] 9,600 11,300 A1,700
01 2o 9,600 11,300 21,700
OJ1=2gde43 o 9,600,0008 * 1Al 9,600
Hees(2stsn) (st 2 /25 0=) 300,000 300,000 0
HEHH K= 300,000 300,000 0
230=sLAIIZ =4 300,000 300,000 0
702 JISN=2 300,000 300,000 0
01 JI2E=2 300,000 300,000 0
O=2st0z2dII2 &= 300,000,000 * 14! 300,000
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A= 2FES=EXZ A HESELAEDL
FH: HMSIE(2SL22/M=)
ool NEeHSSA CLE-L
AR . = NzH . Clo (5 SAI . HA 2 A} OH HEE =}
M=HAE0 14,925,187 14,147,849 777,338
2 66,930
= 220,000
| 308,924
= 419,580
Al 13,909,753
HNEE(2L2E/HS) 13,951,126 12,490,538 1,460,588
= 200,000
Il 129,404
& 400,760
Al 13,220,962
Hd2HssY 6,353,894 5,104,095 1,249,799
=3 XA 436,963 252,206 184,757
301 L2 A3 102,263 96, 106 6,157
12 JIEtE2 43 102,263 96, 106 6,157
OM=ss 29 89,743
S ANS=ZE Q24| 57,591,000& » 14 57,591
oHRE X olAHY| 32,152,000 » 14 32,152
OJIet 2€3 12,520
o=z 89,743,000& * 4.5% 4,039
ocA2AEH 89,743,000& * 2.24% 2,011
c1EEH 89,743,000& * 1.75% 1,571
oMEH 815,000& * 14 815
ocEANEZ 4,084,000& * 14 4,084
307 QI2+0|A 329,700 91,100 238,600
02 QItFAEX 312,200 73,600 238,600
OMsz g2esl 6,000,000& * 14 6,000
OstuxN=s8 & 30,000,000& * 14 30,000
Of==dx=s4d A& 50,000,000& * 14 50,000
OdAX A BHEXI  1,600,000& » 1189 * 12& 211,200
O==0t2el & d+==F4 15,000,000& * 14| 15,000
03 AM2IEHMEXEZ 17,500 17,500 0
OMEHME=S(MENSS Z&)
17,500,000& * 14 17,500
402 212t XH=01A 5,000 65,000 260,000
01 B GE2EX 5,000 65,000 260,000
ORIOCIEH =22 =t 5,000,000& =*14] 5,000
M A2UHS X 398,000 493,000 A 95,000
307 212t01H 398,000 493,000 A 95,000
04 CIZFHALE X 398,000 493,000 A 95,000
O&d=212U3 XA 398,000
oMM FHIt 13,000,000& * 14 13,000
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AT BB2EH2=XZ SN HEHAAD
A HSHS(EHLBB/AS)
HRHSSs (el &2
- _ _ Muo
2. HH (S - HRAY - BAS 0 & o4 e HIRZE2
cxXESAEY ZHUE 10,000,008 * 14] 10,000
CHIARERE(3MH)
270,000,0008 * 14] 270,000
SABIHRLEZZOS
50,000,0002! * 14! 50,000
c2ISO0FRE ThBIHE & &D}
20,000,0002 * 14} 20,000
O NFHE2E S DOL0I A543
20,000,002 * 14} 20,000
MBI EREIISUS N
15,000,008 * 14} 15,000
CARHEX 433,000 390,000 43,000
307 2120l 433,000 390,000 43,000
04 BIASAIS 433,000 390,000 43,000
OEA20E X 433,000
o193l LA Oi2tE O3l X &
8,000,000% * 14! 8,000
o453 TRIXIESH Y|
350,000,0008 * 14] 350,000
CYATAEMAE KB 30,000,008 * 14 30,000
oH6sl RSLI 2248
10,000,0008 * 14} 10,000
STOIRIA SHEHAl 2Bl 35,000,008 * 14 35,000
NEEIEE 67,500 27,500 40,000
307 2I2H0IF 67,500 27,500 40,000
04 DIZISALS T 67,500 27,500 40,000
OARZUE X& 67,500
oM 158 +YI1WsIHI| (43l
2,500,0008 * 14! 2,500
o X158 Ot E3IFII 8l
10,000,0002 * 14} 10,000
oX3E AIZIIZBIEME 5,000,008 * 14 5,000
o33l AFIISACE 10,000,008 * 14 10,000
SH28l AZIIENAEC S
10,000,0002 * 14} 10,000
S2010SHAES2IT 15,000,008 * 14 15,000
S2010YAE ETH5 RAH03HH 0|
15,000,0002 * 14} 15,000
ESWSIEES] 22,000 21,000 1,000
307 BI2HOI 22,000 21,000 1,000
04 DIZFSHAE T 22,000 21,000 1,000
OSXIAICHE &t 22,000
oH1E £ -5 S4H3
6,500,008 * 14! 6,500
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A 2AFEI=ERXN= A HESELAEDL
FH: HMSIE(2SL22/M=)
HeHS S chelime
S - BB S (SI) - M A - A S Aol Bl =2
Gil &t 0
oM113 =g sl 5,000,000& = 14! 5,000
o HM143 =3 2,000,000 = 14 2,000
oHM162 =03l 2,000,000& = 14 2,000
o M153 B3 3,000,000& * 1A 3,000
o HM162 =3l 1,500,000& * 14 1,500
o M22s =X g 2,000,000 » 14 2,000
EAHE2Y 2,503,034 1,630,637 872,397
101 elH| 11,997 11,653 344
04 JIZ 22 a2+ 11,997 11,653 344
Og=A &2l olAy| 11,997
=JlZ2a 41,8003 » 1% » 230 9,614
oFF Y 41,8003 » 19 » 46 1,923
cHXtY 41,8003 » 198 » 11 460
202 (4| 17,100 14,000 3,100
01 =LA b 17,100 14,000 3,100
OF7Ug &I dJA0Hl 17,100,000 * 14! 17,100
301 EtBA = 1,505,937 1,544,984 A39,047
11 tlsta - 2s2sS2423 1,505,937 1,544,984 A39,047
Os+1% =0 791,700
o3 37,500,000& * 1¥ 37,500
cEdoly 35,000,000& * 194 35,000
oMEEdolY 25,000,000 » 1% 25,000
S EE 34,000,000 » 2% 68,000
oA &= Q12| 31,800,000 » 8H 254,400
o= 22| 27,400,000 * 794 191,800
oCad s 21| 22,500,000 * 8Y 180,000
oxs=+¢ 245,200
o2 =Y| 29,400,000 » 14 29,400
ocZAZ 17,900,000 * 23| 35,800
o&el+=4(53HYE) 180,000,000& = 14 180,000
OLERE= 77,317
o=0lHg 814,700,000& * 4.5% 36,662
cHUBER 814,700,000 * 2.24% 18,250
2™ 814,700,000& * 1.75% 14,258
oMUNEER 814,700,000& * 1% 8,147
(@IS RSE == 10,000,000& * 14 10,000
Og &gl 187,320
czH2dg 5,000,000 * 14 5,000
oMAE&(SH,6tH)  24,000,0008 * 14l 24,000
ol E&HI(1/2LD]&)
80,000& » 28%H * 534 & 118,720
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ax 2FEE=EN= A HsEAEL
M MRS (BSL2E/H=)
. HEMSSH chelime
SN - FE SR (E) - HRAY - B e 52
St~ PN = 40,000  28Y = 102/ 11,200
c=HEZH 1,200,000 * 53] 6,000
o Il = 4| 400,000& * 28H = 23l 22,400
o=t 01" = 30,000,000& * 1A 30,000
Og=4a 22 114,400
oAl 250,000& = 289 * 128 84,000
o Z2HALH] 11,000,000& = 14 11,000
o =234l 200,000& = 123 2,400
oA S H| 800,000& = 102 8,000
o332 500,000& = 123 6,000
ocztFFHl 1,000,000& = 22/ 2,000
ocMEES 500,000 * 22 1,000
OaYE 3ldl 20,000,000& = 14l 20,000
Oger=3l 25,000,000& * 14 25,000
OWMEeld 828 24l 5,000
o AZEEZSHA 5,000,000 * 14! 5,000
307 212H0| & 40,000 0
04 QIZtHALE X 40,000 0
OlAdgeld dAr2EHl 20,000,000 * 23] 40,000
401 AEHIL 2] 78,000 78,000
01 A&l 75,000 75,000
O=4 IS A 75,000,000& * 14 75,000
03 A2 R04Hl 3,000 3,000
O=2cl28d AILSUBl 3,000,000& * 14 3,000
405 XtotE SHI 850,000 830,000
01 MMHESHS 850,000 830,000
OJINM & 2sE] 20,000,000& = 14l 20,000
O=A20hl 830,000
oAl & Jltte==8
800,000,000& =14l 800,000
opin=a He 257Y
30,000,000& = 14! 30,000
SR 436,118 A62,187
301 et as 426,118 AB2,187
Ml - 2SFSEd= 426,118 A62,187
Osd=E 30 275,000
SPNEN; 40,000,000& » 1H 40,000
oSzl 45,000,000& » 1H 45,000
oAl 38,000,000& =+ 5&H 190,000
oxs+d 43,200
oYt AZ 10,000,000& * 14 10,000
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A3 BPRI=NZ SN HMSEAED
M MRS (BSL2E/H=)
SC R SESUETYE (et & 2
AT RN FH-SAEH) - NRAY - B 01 &t o8 Bl HlRE2
0 & 24
oSEdHMZ 8,000,000& * 14l 8,000
oZJHE =% 500,000& = 1€ = 128 6,000
ocEdH 200,000& * 794 » 12& 16,800
SPNEE = 200,000& * 14 * 12& 2,400
O==dl 4,0002 « 7% = 180 5,040
OAERE= 26,098
o=0lg=z 275,000,000& * 4.5% 12,375
cA2dEH 275,000,000& * 2.24% 6,160
clEEH 275,000,000& * 1.75% 4,813
oM THEH 275,000,000& * 1% 2,750
OEARHE=S 5,000,000& = 29H 10,000
Og=24gt 33,580
=gt =X 150,000& = 123 1,800
o MXIE&H| 400,000& * 7 « 43| 11,200
oz &d| 300,000& = 7% * 63l 12,600
o 24X =l 40,0008 = 7H = 63 1,680
oEdHES 7Y 200,000& = 7H = 23| 2,800
o I =4l 250,000& = 79 = 23| 3,500
Og=429Y 31,200
o g Al 250,000& * 794 » 12& 21,000
o 2+HANH] 3,000,000& 14 3,000
o234l 100,000& = 12& 1,200
oA Z Hl 2,000,000& * 14 2,000
ocEER=3 2,000,000& * 14l 2,000
o EZEHl 1,000,000& * 14 1,000
CHEES 1,000,000& 14 1,000
O&gg 3l 2,000,000& » 14 2,000
405 KHaHFESH| 10,000 10,000 0
01 T =SS HSHI 10,000 10,000 0
OJIN & 2s&H| 10,000,000& * 14 10,000
RERRY 246, 177 433,347 A187,170
301 et as 236,177 423,347 A187,170
N i=t2 - 2SFSEd= 236,177 423,347 A187,170
ORER®R =d 130,000
SPNE-DN; 40,000,000& = 1&H 40,000
oS5l 45,000,000& = 2% 90,000
Ox&=¢ 35,300
o YdBtEAZ 2,000,000& * 2H = 33 12,000
R 1,700,000& * 2 = 50% 1,700
oIJIHESY 500,000& * 2% = 12& 12,000
oEdH 200,000& * 3% * 12& 7,200
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BE2s=x2 eI ET-PNE
L HSTE(2L2B/HS)
HRHSSH

o 5. ol (5 ” o FSJE
N-E3H-S2(SAH) - MRAY - BdS Oll AF O

S 200,00081 * 1% * 122 2,400

SEET] 4,0002 * 38 = 2802 3,360

SEE-LI== 12,337

Sl 130,000,0002! * 4.5% 5,850

SEEICE 130,000,000 * 2.24% 2,912

ong2y 130,000,0002! * 1.75% 2,275

M 130,000,0002 * 1% 1,300

SLEEE-F 5,000,008 * 2% 10,000

o2l 24,880

ozl 150,0002 * 122 1,800

o F X &’ 500,008 * 3% * 43l 6,000

o sl E Y| 500,0008 * 3% 63l 9,000

o2 A% 21| 60,0008 * 3% * 63 1,080

c2HBE 7Y 400,008 * 3% * 33l 3,600

oI = 400,008 * 3% * 23l 2,400

o ZHIR Kbl 1,000,008 * 14! 1,000

Ost&42Y 19,300

oZaltl 250,0008 * 3% * 122 9,000

o2tAlY| 3,000,0008 * 14! 3,000

c2gHl 10,0002 * 122 1,320

oozl 330,008 * 63| 1,980

o2223 2,000,0008 * 14! 2,000

o & F| 1,000,008 * 14! 1,000

oMHEE 1,000,008 * 14! 1,000

Oaleig 3lH| 1,000,008 * 14! 1,000

405 XHAHE SH) 10,000

01 RAUSESH S| 10,000

OJIRHY 2SHU 2 10,000,002 * 14 10,000

SEELE 361,586

301 YBrEAS 351,586

IR = 351,586

oYaR 20 199,000

o XIS Xt 40,000,008 * 1% 40,000

oS3H% 45,000,0008 * 1% 45,000

oA M4 38,000,0008 * 3% 114,000

OAz4g 34,400

cUBTAZ 5,000,008 * 14! 5,000

S EEAE 3,000,0008 * 14! 3,000

o EAY 500,00080 * 2% * 122 12,000

S EE 200,0008 * 5% * 122 12,000

oXEag 200,0002 * 1% * 122 2,400
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2 23=X= FAMHsE2EL
P HSIE(RSL2Z/AF)
SENELY
S - BB SR (B) - MIRAY - BES e
O==l 4,000,000& * 14l 4,000
OAERE=S 18,886
o=0lAZz 199,000, 000& * 4.5% 8,955
cAUEH 199,000,000& = 2.24% 4,458
clEEH 199,000,000& = 1.75% 3,483
oM THEH 199,000,000& * 1% 1,990
OE RS 5,000,000& = 29H 10,000
OE =224 30,100
cEH2EH| 1,800,000& * 14 1,800
oMXIE&Hl 8,000,000& = 14l 8,000
oisI&dH| 10,000,000& * 1A 10,000
o 24X = 1,300,000& * 14 1,300
cE2dE3H| 5,000,000& * 14l 5,000
oIl =l 4,000,000& = 14 4,000
Og=s429 24,200
o g Al 250,000& * 59 * 12& 15,000
o 2+AlY] 2,000,000& » 14 2,000
o 23| 1,200,000 * 14 1,200
oA = H| 2,000,000& * 14l 2,000
ocZ3R3 2,000,000& 14 2,000
o EF &l 1,000,000& *» 14 1,000
CHMEES 1,000,000 * 14 1,000
O2sAME oz 2,500,000 = 128 30,000
O&gg 3l 1,000,000& * 14 1,000
405 XH&HFSHI 10,000 10,000
01 MH=SEH 10,000 10,000
OIIRM & g 2
10,000,000& = 14 10,000
ZOHAAARER2Y 181,553 0
SEI-Pe= 176,553 0
11 =2 = 176,553 0
OZO AR 76,000
oAg s =0l 38,000,000& = 2% 76,000
oxs=¢ 62,500
otz Az 50,000,000& * 14 50,000
ocEHIMZ 1,700,000& * 2 = 50% 1,700
oxJtlEE 500,000& = 1€ = 128 6,000
oEdH 200,000& 2% * 123 4,800
O==Hl 4,0008 ~ 2% = 280 2,240
OAxERE= 7,213
=203 76,000,000 * 4.5% 3,420
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2es2x = SA ASEAED
LSS (2 UBR/HR)
HeHssl
o 5 e = o ]Sl
NS c2A(3H) - MRAY - BHES Oll AF O
R 76,000,0002 * 2.24% 1,703
Snf=1- 76,000,0002 * 1.75% 1,330
olTEER 76,000,0002 * 1% 760
oYz 5,000,0002 * 12 5,000
oglea 15,000
cspeay| 1,000,0002! * 14! 1,000
oAl E | 4,000,0002! * 141 4,000
SEEFSIEl 5,000,0002! * 14! 5,000
oS AX| 2| 500,0002! * 14! 500
cEMRETY 2,500,0002 * 14! 2,500
o Tl =H| 1,000,000 * 14! 1,000
o =HIRA I 1,000,0002! * 14! 1,000
OgzA2Y 7,600
o2 AlH| 250,008 * 2% « 122 6,000
o 2kAlH| 1,000,0002! * 14! 1,000
ooyl 600,0002 * 14! 600
ST 1,000,000 * 14! 1,000
405 THAHE S| 5,000
01 AUSEHSH| 5,000
OIR L 2 F Y| 5,000,0002! * 14! 5,000
SRRy 153,463
301 LHrEAR 148,463
11 0lace - 2522842 148,463
LIERCIEETET! 76,000
oAZH 20| 38,000,0002 * 2% 76,000
OEIEFS=! 24,500
oYptEAZ 2,000,008 * 22 * 33| 12,000
csgmAZ 1,700,0008 * 22 * 50% 1,700
o2 ELY 500,0008 * 1% * 122 6,000
ogdsy 200,0002 * 22 =128 4,800
o= 3,000,0002 * 14! 3,000
oxzRYa 7.213
c2piKaz 76,000,0002 * 4.5% 3,420
cAALE 76,000,0002 * 2.24% 1,703
ST 76,000,0002 * 1.75% 1,330
oATHEEE 76,000,008 * 1% 760
ofxgea 5,000,0002 * 12 5,000
oglea| 8,750
ozl 1,500,0002! * 14! 1,500
oA EH| 6,000,0002! * 14! 6,000
oUs &Y 7,500,0002! * 141 7,500
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42 2BEHEX SN HSEAED
M MRS (BSL2E/H=)
@t dEHSESY (el &)
AT RN FH-SAEH) - NRAY - B 01 &t o8 Bl HlRE2
0 & 24
N L 750,00020 * 14l 750
cEMEETY 2,000,0008 * 14! 2,000
o Il = 4| 1,000,000& * 14 1,000
Og=sa29Y 13,000
o g Al 250,000& * 29 * 12& 6,000
o Z2HALH] 1,000,000& * 14 1,000
o 2dH| 1,000,000& * 14 1,000
o= Hl 2,000,000& * 14l 2,000
°oZER2=3 2,000,000& 14 2,000
ocMEERZ 1,000,000& * 14 1,000
O&gg 3l 1,000,000& » 14 1,000
405 KHAHFESHI 5,000 0 5,000
01 HARESF=H 5,000 0 5,000
OJIN & 2s&H| 5,000,000& * 14l 5,000
d2HsSsd g2fXE 14,500 16,920 N2,420
201 Lete gyl 10,000 10,000 0
01 AtS22lHl 10,000 10,000 0
o4& Ual2d s2=HH
5,000,000& * 14l 5,000
OZ& U3l OlsasEs Xz
5,000,000& = 14l 5,000
202 O4Hl 2,500 1,920 580
01 WYl 2,500 1,920 580
OHM=sdd g2 2,500,000& * 14 2,500
203 HRF&Hl 2,000 5,000 A 3,000
03 AIMZ=XHRFEH| 2,000 5,000 23,000
OdA =X 2= 2,000,000& » 14 2,000
AZXOAE(ZRF.COEELERXE 1,100,000 0 1,100,000
201 LEH2HH| 1,100,000 0 1,100,000
01 AtR 22| 1,100,000 0 1,100,000
oxs 822 HMH 1,000,000,000& * 14 1,000,000
oxs Zu= M 100,000,000& * 1A 100,000
HEHssd 1,071,267 808,279 262,988
Il 129,404
L= 7,360
Al 934,503
MEH =S X 124,059 67,953 56,106
301 LetEasg 99,059 67,953 31,106
12 JIEtEA S 99,059 67,953 31,106
OMEMsEas 1Al 72,591
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A= 2FEES=EA= FAMHsE2EL
M MRS (BSL2E/H=)
D MBS EER-E
SN EE - SR(EN) - MR - BAS 01 &t o8 e HlRE2
o ANR=F 21| 48,591,000& * 1¥ 48,591
ocdREX0IAY| 24,000,000 * 1 24,000
OAZ2tel=% 100,000& * 128 + 128 14,400
OJIEtRE= 12,068
o=20H3 87,591,000& * 4.5% 3,942
ocdILEE 87,591,000& * 2.24% 1,963
cl1EEY 87,591,000& * 1.75% 1,533
oMIEE = 582,000 * 14 582
cEAMNMEZ 4,048,000& = 14! 4,048
402 QI2HRHE01M 25,000 0 25,000
01 BIZFGEEXR 25,000 0 25,000
Oxzg7e (15215 811)  25,000,0008 * 14! 25,000
SYHAMESHSHAXE 379,400 270,000 109,400
307 212t01& 379,400 270,000 109,400
04 QIHHALE X 379,400 270,000 109,400
OS2 HENSHA XS 379,400
oM22a Lot & =HILIACHE
11,400,000& * 14 11,400
o HM9al M=IIEE U3
15,000,000& * 14 15,000
ol6zl ZZUHE=HH=CIEH =]
18,000,000& = 14 18,000
CHRARAHSDI YU (SBHII)
180,000,000& = 14 180,000
o Mgl Hade St
40,000,000 * 14 40,000
o X108 FEHICHE =G U3
5,000,000& = 14 5,000
o M29s ZRAEHEAFII=EAUS
40,000,000& * 14l 40,000
oM 18al CRIMEXSHE
40,000,000& * 14 40,000
ocUTMEMFAAMXA 30,000,000& * 14 30,000
ZEASEE IR XA 46,000 35,500 10,500
307 GI2t0I A 46,000 35,500 10,500
04 QIHHAIE X 46,000 35,500 10,500
OZJSEs &I K& 46,000
o M192] HHECIE 3 2,500,000& » 14 2,500
o X198 HILIAHZ] 2,500,000& » 14 2,500
oM17al &R 2,500,000& * 14 2,500
o HM293 =7U g 3,000,000& * 14l 3,000
oM123 2CEdiis 2,000,000& * 14l 2,000
o HM13zl SU 2 2,500,000& » 14 2,500

&




e eV E S HMSEAET
HEMNE (2L 2HZ/HK)
MBS SA
A BRI (BH) - NEAY - BaS e
o H173 AFZTHE 2,000,000& = 14 2,000
o H173 HOIE=Z U3 3,000,000& = 14! 3,000
o M173 203 2,500,000& * 14 2,500
o Ml133 =¥ U3 2,500,000& * 14 2,500
o MI103 HH=2TH &l 3,000,000& * 14! 3,000
oM 143 MeiZ2et0l s HEal
2,000,000& * 14 2,000
o H103 MEHM=ZOS 2,000,000& * 14 2,000
o MI73 EFAUS 2,000,000& * 14! 2,000
o 103 AIAZHOIGE 2,000,000 * 14 2,000
oJ|Et SLHAMEFUHE X
10,000,000& * 14! 10,000
[CHE X & 23,500 25,000
I2tol & 23,500 25,000
OI2FSHALE & 23,500 25,000
OZ=XARIE K& 23,500
o H103 E3UE 2,500,000& = 14! 2,500
o M112 HILIACS 2,500,000& * 14 2,500
o M133 I+ T3l 2,500,000& * 14 2,500
o M173] MEXECHS 1,000,000& * 14! 1,000
oM113 s32U3 3,500,000& * 14! 3,500
oH113 EF2UE 2,000,000& = 14 2,000
oM113 HHEZIE 3 1,500,000& * {14! 1,500
oM113 {2209 HE 3
2,000,000& = 14 2,000
o H213 HOIE=Z U3 2,500,000& = 14! 2,500
o M223 ME2U3 1,000,000& * 14 1,000
o MI2&l BICt=SH 3] 1,000,000& * 14 1,000
o Mi2& OFH3E 1,500,000& * 14! 1,500
JItHal K& 48,000 41,000
I2+0| & 48,000 41,000
QI2HEHALE 48,000 41,000
OAEIItE K& 48,000
oH11g s32U3 14,000,000& = 14! 14,000
o HI73 HHERIEHE 4,000,000& * 14! 4,000
o M43 Or=20H3l 4,000,000& = 14 4,000
o M113 =32U3E 4,000,000& * 14! 4,000
o HI183 HOIEZ2SUE 4,500,000 = 14! 4,500
o M143 & U3 3,500,000& = 14 3,500
o M123 HILIAUS 4,000,000 * 14! 4,000
o ANAIIHI EE . ESSIH
10,000,000& * 14 10,000
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A2 pER=XR S HSEAED
M HSNES(2JALBB/HS)
ool MBS (==L
_ _ HE T
AZ 2N - FH - CRA(FAH) - MRAE - BES O AF K 'oﬂ/'\_FOH Hlws2
JIEHY SR S ALK 2 126,500 104,000 22,500
201 Y2 ay| 2,000 23,000 A21,000
01 At 22l 2,000 23,000 A21,000
OJIEt MEHSHA LS|
2,000,008 * 141 2,000
202 OFH| 2,500 0 2,500
01 2Ujotbl 2,500 0 2,500
OAZZOIAY HAREF 2,500,008 *14! 2,500
307 QI2+0|H 122,000 81,000 41,000
04 QIZHAIEE 122,000 81,000 41,000
OJEIM RS S AL X&) 122,000
SRI73l ARl =02t AH0IE
20,000,008 * 14! 20,000
SU/AT 024 MBS
12,000,008 * 1Al 12,000
SEIEEPNEE B wE
10,000,0002! * 14! 10,000
ST Al HSTH3 4,000,0002 * 14! 4,000
oxE=y 258 M2 &I}
6,000,008 * 14! 6,000
S RI83l ZEHICHOI2HEH 3
50,000,008 * 14! 50,000
SEIARIFIIMSE 20,000,008 * 14 20,000
0§ QI M BRI S X 2 50,000 50,000 0
307 @I2+0|A 50,000 50,000 0
04 DIZISHALE 50,000 50,000 0
OFONQIMEHST AKX & 50,000
SRHIBE| 2T R OYOIH T3
20,000,008 * 14! 20,000
oR9E LSHOHAMZEE S
10,000,0002 * 14! 10,000
© DI EHE O ©1 A4 2 7 5 K| 2
20,000,008 * 14! 20,000
MEHST2 O 8,330 19,800 A11,470
= 2,500
Al 5,830
307 QI2+0| A 8,330 19,800 A11,470
= 2,500
Al 5,830
02 PABAEE 8,330 19,800 A11,470
OMEBHSTE 1 8,330,0008 * 14! 8,330
= 2,500
Al 5,830
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04 Nz

oLk

2y

OH
i

20
B
2

P
Al

146,496

73,248
73,248

125,568

307 QI2+0ld

Jl
Al

146,496

73,248
73,248

125,568

20,928

02 QItFAE X
=

146,496,000& * 14|
p)
Al

146,496

146,496

73,248
73,248

125,568

20,928

Il
Al

83,712

41,856
41,856

41,856

41,856

307 GI12t0ld

Il
Al

83,712

41,856
41,856

41,856

41,856

02

o
S
N oY
> o
T
P

O
2

0
i
o
el
{0

83.712,000& = 14l
p)
Al

83,712
83,712

41,856
41,856

41,856

41,856

=z H

6,670

2,000
4,670

15,332

N8,662

307 GI12t0ld

= H

6,670

2,000
4,670

15,332

AB,662

FA

HooH
S
nz
H0
02

[

o
(N

o
¥
(R
0z

O
0z
i
é

6,670,000& * 14

=

6,670

6,670

2,000
4,670

15,332

AB,662

AERHISH AEAS

>y

28,600
14,300

2,860
11,440

28,600

307 2120l &

= H X

28,600
14,300

2,860
11,440

28,600

28,600,000& = 14l

= H X

28,600
28,600

14,300
2,860
11,440

28,600

HSIIBAlILats

H o

6,525,965

200,000
393,400

6,476,134

49,831
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0z N>
J2

22 2=X=
HEXE (222 /M)
HMSIIEAI & &t =

2 2M- B S(EH) - MBAY - BY o Bl SImE=ET
0l & 2
Al 5,932,565
SE2sE Fdl 191,000 191,000
401 Al&HIZL=ROHYI 161,000 161,000
01 Al&H| 160,000 160,000
OAZN &g &X 80,000,000& * 2002 160,000
03 Al£=R0HHl 1,000 1,000
OAl£ 20l 1,000,000& Al 1,000
405 XtobE SHI 30,000 30,000
01 T =S FH SHI 30,000 30,000
Osads=s J++¢ 30,000,000& Al 30,000
MEHSHH HE 2,000,000 2,000,000
401 Al&HIZL=RCHYI 2,000,000 2,000,000
01 Al&H| 1,950,000 1,950,000
OAl£H] 1,950,000, 000& &) 1,950,000
02 2eldl 50,000 50,000
OZealdl 50,000,000& 4] 50,000
=13d 24 485,878 485,878
101 el H] 52,698 52,698
04 JItHIZ2E2NEE S 52,698 52,698
O=3& 222l 12| 52,698
=Jllzg 41,8003 » 4% » 230 38,456
oFFd 41,8008 » 4F » 46 7,692
o ARt 41,800& » 4% +11 1,840
o A2t % gt
7,850& * 25A12F « 29 « 128 4,710
201 et 149,680 149,680
01 AtS 22/l 44,680 44,680
OAtS 22/l 11,080
cEESME 3,000,000& = 14 3,000
CHIANRES 2,000,000& 14 2,000
o =9 HI& 100,000& = 307K 3,000
oHI2H=E 30,000& * 38 * 123 1,080
o222 A HAMHI 2,000,000& * 14l 2,000
Ogxz & 2237 33,600
oML E Ul 300,000& * 83l 2,400
oMl +E EYX 300,000& = 42l 1,200
otEA EF 2,000,000& 14 2,000
o¥stE+NHE 4,000,000& * 14 4,000
oAE g2 5,000,000& * 14l 5,000
o A& & Hl =X Y| 5,000,000& = 14 5,000
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43 pEes=x= 2N ASHAED
FH: HMSIE(2SL22/M=)
M| B Al 25 CERE
224 B O(3) - MRAY - BAS e S[nE=E
o= ARRY 9,000,000& » 14 9,000
oA AREFY 5,000,000 = 14 5,000
02 =323l 105,000 105,000
O33e3 105,000
cMEE = 18,000,000 * 14 18,000
oNMIlg 24,000,000& * 14 24,000
oM TANER 9,000,000& 14 9,000
oot AIER 12,000,000& * 14l 12,000
oIt Z 6,000,000& * 14 6,000
oUBMER 12,000,000& * 14 12,000
ocRa7d 18,000,000& * 14 18,000
o XG A7 Y| 6,000,000& = 14! 6,000
206 M= HI 15,000 15,000
01 M=Hl 15,000 15,000
O&Cl &2l Mzl 15,000
oczs%Y 5,000,000& =14 5,000
oHIAIE R 500,000& * 10&] 5,000
oHlgxg 500,000& * 43| 2,000
oBAE EXC 30,000& * 604 1,800
oBAlZg &OM 240,000& * 5L 1,200
405 KH&HFE SHI 268,500 268,500
01 A& 2B HSHI 268,500 268,500
Os+73& el & 10,500
oAEXx HCE 2} AT
4,500,000& * 14 4,500
o Xt==4l &L 2] 2,000,000& = 14 2,000
o AHE 2 EHH0| 4,000,000& * 1CH 4,000
Ooges Fd+ 8,000
ocZdFH,ZElED 2,000,000 = 14 2,000
o MA O X7 3,000,000& = 14 3,000
oJiglyl, Zyl E2tst 3,000,000& * 1A 3,000
O 2E7Y(2s)I7EE) 250,000
oTV, R, B2, AEEHS
250,000,000& = 14 250,000
2ESOE ANLES 150,000 150,000
401 AIEHIZ 2O 150,000 150,000
01 Al&HI 150,000 150,000
OtES=SAF A€ 20,000,000& = 14l 20,000
ONtES=ESA 130,000,000& * 14 130,000
HUHEEX MSAE2Y 65,000 255,000
201 Y| 35,000 35,000
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A 2AFEI=ERXN= A MsEAEN

I WSANE(2}L22/HF)

TPl HISIIBAI LSS (el He
Al 32 t:sA_l X XH [:|-o|(=|j:”) }\.”I:I}\l,o-l A= 04|/\}0H In_-lln“j_“:_ H|j§3k
= (=) iy o L) ° TNs a3 &= 04| AFOH U=sa

01 AtR22lH| 35,000 0 35,000
O=XHEANE 2ANANERZ
35,000,000& * 14 35,000
401 AIEHIZ2b] 30,000 320,000 A 290,000
01 Al&HI 30,000 320,000 A 290,000
OXHMEAMNE RXE= 30,000,0003 + 14] 30,000
SHSHSANE 44X &€ E= 390,090 361,201 28,889
101 14| 2,090 35,201 A33,111
04 JI2ZtHZ22XNsE+ 2,090 35,201 233,111
OZEN0ESE S3FHl 1|
41,8003 + 5Y » 10 2,090
201 LEer23d| 18,000 26,000 A8,000
01 AtS2t2ldl 13,000 0 13,000
OAtS2tel | 13,000
oUENOE=ZH 2EBF 7Y
4,000,000 * 14 4,000
oMSA&EH EHIYX 5,000,000& * 14 5,000
oZAMZIIY Xz 4,000,000 = 14] 4,000
02 =323l 5,000 26,000 A21,000
0233 5,000
o AM&EHIRAX 5,000,000 * 14 5,000
401 AIEHIZ 2 370,000 300,000 70,000
01 Al&HI 370,000 300,000 70,000
OF2%& Z4AZ AZACI(LH)
70,000,000& * 14 70,000
OSUMSAE BA(S8HS)
250,000,000& * 14 250,000
OSUMSAE B2 (SHS)
50,000,000& * 14 50,000
HM=ZI1et AIE&S K& 3,500 3,780 A 280
202 04 4| 2,500 2,280 220
01 =LHOA b 2,500 2,280 220
OM=sAE 8 &£ 22
2,500,000& * 14 2,500
203 HRF&Y| 1,000 1,500 A500
03 AIMFEHRF=EIH| 1,000 1,500 A500
OMSIIEAN s HR2FE
1,000,000 * 14 1,000
SEASAEHA FUl 800,000 0 800,000
2 200,000
& 93,400
Al 506,600
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20 20
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Z2=X= A HsEAEL
SUE (L2 E /M=)
S| BN Z &S

S - B (3 H) - NBAY - B2 HEE HD=2t
e R B i o ) ° TNs a3 04| AFOH U=sa
401 AIEHIZR2b] 800,000 0 800,000
& 200,000
= 93,400
Al 506,600
01 Al&HI 800,000 0 800,000
OZENMESAIEEX EHl 800,000,000 * 14 800,000
2 200,000
& 93,400
Al 506,600
SAdHs22Z 17,997 41,153 A 23,156
101 elH| 11,997 11,653 344
04 JIZtHZ22XNSE+ 11,997 11,653 344
OZE =sANs2 22| 11,997
SRt 41,8003 » 1% * 230 9,614
oxgaYd 41,8003 + 19 = 46 1,923
oAXtg 41,8003 » 19 = 11 460
201 etIH| 6,000 9,500 A 3,500
02 232ZH| 6,000 9,500 A 3,500
O232= £ HMA 5,000
oXMJllz,HgHl S 5,000,000 = 14] 5,000
(OINE=F-1:=1E=IN}:]| 1,000,000& * 14 1,000
AEFFAISEXZHL 2,355,000 0 2,355,000
= 300,000
Al 2,055,000
401 AIEHIZ 2O 2,355,000 0 2,355,000
= 300,000
Al 2,055,000
01 Al&HI 2,355,000 0 2,355,000
OFs33xH 2,034,000,000& * 14 2,034,000
= 300,000
Al 1,734,000
O=RZAX A (AIIZI)
321,000,000& * 14 321,000
HUH2SE HLSA 67,500 0 67,500
401 AIEHIZ 2O 67,500 0 67,500
01 Al&H| 67,500 0 67,500
O2sHE23AM 1,500m" = 45,000& 67,500
235 2 R4 (AIF=A/L - HaH) 946,961 1,614,611 AB67,650
= 66,930
= 20,000
| 179,520
& 18,820
Al 661,691
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AR BE2=NZ SA : HSHAAD
Yo AW 25 U SH(AMISN/0 - Had)
S PNEL P CERCE
- _ _ Muo
=24 -3 -H2A(SH) - NRAY - BEZ Ol &+ 9K Ofl At ot HwsZ
PNEEY 946,961 914,611 32,350
= 66,930
2 20,000
p 179,520
= 8,820
Al 661,691
Had HCES 35, 150 2,590 32,560
201 Y2 Y| 2,650 2,000 650
01 At 2rel| 2,650 2,000 650
OAt2 22l 800
CHAUSUIUI 800,000 * 14! 800
ozl 1,500
oHAERN AL A|
1,000,0009! * 14! 1,000
CEBSHE 500,000% * 14! 500
ouxz 350
cHAUSHIN RS EXNYXE
350,0008 * 14! 350
202 014l 2,500 590 1,910
01 201 2,500 590 1,910
OFAE & =z g
2,500,008 * 14 2,500
307 QI2t0IH 30,000 0 30,000
02 B2t 4 30,000 0 30,000
OXgs Nk
30,000,000% * 14! 30,000
HAd ol N 46,500 54,500 8,000
307 QI2t0IH 46,500 54,500 8,000
03 ABICHHIZ XS 46,500 39,500 7,000
OFAECHH X & 46,500,002 * 14! 46,500
HAUSsoy 2 9,823 129,210 ~32,387
101 21248| 39,133 35,910 3,223
04 JI2RIZE Xt 39,133 35,910 3,223
OF=PNE MOIRt 1= 14,349
Sl 41,8002 * 12§ * 230 9,614
oFELY 41,8002 * 19 = 462 1,923
oQiRtaY 41,8002 * 19§ * 112 460
o AIRtel g 7,84080 * 25AI12t * 128 2,352
OFAHSEAT YREX 0L 11,982
Sl 34,9008 * 12 * 230 8,027
oFELY 34,9002 * 12 * 462 1,606
ooRAY 34,9002 * 12 = 112 384
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o L SN HSEAED
oW B5 L SH(AMZEX/00 - HAH)
HAESH (et &2
SR BB OS(5) - NRAY - BAS 0l & e Hlm= 2
04 JIZtHIZ22HEsSE+ 57,188 48,203 8,985
O&EAEER M2 25,133
SPIRt= 75,700& » 1%H * 230 17,411
oFFY 75,7003 * 19H » 46 3,483
cdHXtY 75,7002 * 1H * 11 833
o A2t =g 14,190& * 20Al2F = 128 3,406
OFEAEEE 29EX 21,605
=Jl=g 34,9002 * 2% = 230 16,054
oFFH 34,9003 = 2% * 46 3,211
ocHXtY 34,9003 * 2% * 11 768
o A2t =5 6,550 * 20Al2F » 12& 1,572
Ol A2 10,450
=JlZ23g 41,8003 » 18 » 200 8,360
oFF Y 41,8003 » 19 » 40 1,672
cHXtY 41,8003 » 19 » 10 418
201 Let23d| 113,200 154,288 241,088
01 AtE22|Hl 24,160 95,208 AT1,048
Ogt=ZH| 21,660
CANRES Fel 2,000,000& = 14 2,000
ogtidd 285 P+ 3,500,000& = 14 3,500
SANRININAEE 7L 2,000,000& = 14 2,000
c)|lZAEESME 2,000,000& * 14 2,000
oXdAE Zz Y EE=NE
3,000,000& = 14 3,000
oM FEH|=clbl 1,000,000& * 14 1,000
=J|Et=&H| 3,000,000& * 14 3,000
o2 EHEs/w2Y 2,000,000& » 14 2,000
HER=EZ 30,000& * 38 * 12& 1,080
o¥=J|®wA&2lHl 30,0008 * 3CH = 123 1,080
oM7Y 500,000& * 23| 1,000
oz2d=¢ 1,500
oHAURARS FAY  1,500,000& * 14 1,500
O=gl 1,000
o SZ201Aldl 1,000,000 » 14 1,000
02 2223H| 41,040 56,080 A 15,040
O33L=aLHA 31,540
oMIlg 2,000,000& = 123 24,000
oMol AMEZ 100,000 = 12& 1,200
oAl HHa MY B2
2,000,000& = 13 2,000
og=otM 2| A S| 50,000& * 13/ 50
oA ot 3| 50,000& * 13 50
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A= 2FEES=EA= FAMHsE2EL
HH: HAW 25 L SH(ASSX/ ol - HAH)
el d3adsd (etel: =3
AT RN FH-SAEH) - NRAY - B 01 &t o8 Bl HlRE2
0 & 24
oNMIItMEZAZ 1,000,000& * 13/ 1,000
ocEANMNERES 100,000& * 23| 200
o ROIAHIAIAE 92 170,000& * 123 2,040
cHARHRAN22SH 1,000,000& *» 14 1,000
(@) K=3:] 2,000
S =] 2,000,000& * 14 2,000
OA&EEHIS XY 7,500
ozl Ex=KX 2,000,000& * 14l 2,000
oa8tAld E4%FXIH] 1,500,000& *» 14 1,500
o MIIKRX 24l 2,000,000& 14 2,000
o HAIRX 24l 2,000,000& 14 2,000
03 A2 HI 48,000 3,000 45,000
O=stdx=2d 32,000
oZdA=Z 30,000,000& * 14 30,000
o234l 2,000,000& 14 2,000
OHEsNE Z2OH2Z 3,000
o 2dH| 3,000,000& * 14 3,000
O&Aad sotel 23 3,000,000& * 14l 3,000
O&A4 2AHAEe 29 5,000,000& * 14 5,000
OstugH 208 2% 5,000,000& * 14 5,000
207 A FIHEHI 7,000 0 7,000
02 MAHEHI 7,000 0 7,000
OFAE+EHS EHO0XTE
7,000,000& = 14l 7,000
301 et ez 12,200 6,000 6,200
10 BALAHIEA S 6,200 0 6,200
OELFHAIE A S 4 4,000,000& = 14l 4,000
OJIZ N 22 WE0HI 24
1,000,000& * 14 1,000
OXASA RS A 1,200,000 * 14 1,200
12 JIEtEA S 6,000 6,000 0
OFAEEH2E HRFA 500,000& * 128 6,000
401 N EHIL20H] 8,000 0 8,000
01 Al&H| 8,000 0 8,000
O ==YAHAHEX 8,000,000& = 14 8,000
405 KHoHESHI 18,000 18,800 A800
01 T =SS HSHI 14,000 18,800 A4,800
OiESH01D 7 500,000& * 8CH 4,000
Oonote+¢ 8,000,000  1CH 8,000
O+ 2,000,000& 14 2,000
02 =AY 4,000 0 4,000
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A7 500,000 * 43
s ¥ g4z 7Y 1,000,000 * 23
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20,000

40,000

O3A4E S8 2 XE  40,000,000& * 14

-~

= 0

40,000

40,000

20,000
20,000
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H

80,000
40,000

8,000
32,000

80,000

=X
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8,000
32,000
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O
0z
b
M 0
O
il
paa|
10

2HA 2= NS
80,000,000& * 14|

= H X

80,000

80,000
40,000

8,000
32,000

80,000

= H X

37,200
18,600

3,720
14,880

38,400

A 1,200

=X

10,000
5,000
1,000
4,000

15,000

A5,000

>
M0
02
=

O o
02
b
m
HO
ol
i
o

X 10,000,000& 14l

=X

10,000

10,000
5,000
1,000
4,000

15,000

A5,000

=Y

27,200
13,600

2,720
10,880

23,400

3,800
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y
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A

O
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m
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ol

& 22 X&  27,200,000& * 1

Jz
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27,200

27,200
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2,720
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A 2AFEI=ERXN= A MsEAEN

BH: HAU 85 U SH(ASSX/L0l - HAd)

ool 3adsd (ctel &
A 2N M- HA(SAH) - MRAIY - BES O AFH dd T Hos
= == T2 ° TNs a3 &= 04| AFOH U=sa

| A 70,680
A48 gu=ZE o3tdol 29 133,860 138,500 AN4,640
= 66,930
Al 66,930
101 el24H| 57,200 52,800 4,400
= 28,600
Al 28,600
04 JIZtMZ22XSE+ 57,200 52,800 4,400
Ogut= ottaol2g el2dt|
52,800,000& * 14 52,800
= 26,400
Al 26,400
oY= ortdiol2g 8=
4,400,000 * 14] 4,400
= 2,200
Al 2,200
201 Y| 46,780 51,360 A4,580
2 23,390
Al 23,390
01 AbR22lH| 43,780 47,360 A3,580
oz2g=+¢ 34,960
o A= 34,960,000 * 14 34,960
= 17,480
Al 17,480
Ogdt=2H| 2,000,000& * 14 2,000
= 1,000
Al 1,000
ogxz 6,820,000 » 14] 6,820
= 3,410
Al 3,410
02 =323l 1,000 1,000 0
O0322= % HA 1,000,000& * 14 1,000
= 500
Al 500
03 A2 HI 2,000 3,000 A 1,000
oY= oztdiol2g XI&
2,000,000& * 14 2,000
= 1,000
Al 1,000
301 LA 29,880 34,340 A4, 460
2 14,940
Al 14,940
10 At HIBA 3 29,880 34,340 A4, 460
O AL I &l 24 29,880,000& * 14 29,880
= 14,940
Al 14,940
a4 02 2sX2 11,000 12,000 A 1,000
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43 BEEY=XI SN EF-PNER
Y HAd B5 2 SH(MII=X/L0 - FAH)
SPNEEY CERE
=L ‘:’A X XH Ctel(a }\C‘}\O'l HAX X‘—-IL‘EE Hjxji'
J| 5,500
= 1,100
Al 4,400
307 QI2t01A 11,000 12,000 A 1,000
J| 5,500
& 1,100
Al 4,400
04 CIZFHAE X 11,000 12,000 A 1,000
OHAE S0l S X8
11,000,000 * 14 11,000
J| 5,500
& 1,100
Al 4,400
FaY Hd2eHH X229 109,000 96,000 13,000
J| 54,500
Al 54,500
307 QI2tol™ 109,000 96,000 13,000
J| 54,500
Al 54,500
02 QI2ZtBAE X 109,000 96,000 13,000
OFAY HE3HH X 2¢
109,000,000& * 14 109,000
J| 54,500
Al 54,500
HEAsw 23X 20,000 18,000 2,000
& 6,000
Al 14,000
307 BI2t0l™ 20,000 18,000 2,000
& 6,000
Al 14,000
02 QI2tAAMEX 20,000 18,000 2,000
OblE et 23 XA 20,000,000 » 14 20,000
= 6,000
Al 14,000
HAGSEG T2 29 65,000 42,000 23,000
| 32,500
Al 32,500
307 2I2t0l™ 65,000 42,000 23,000
| 32,500
Al 32,500
02 SIZ+AAMEX 65,000 42,000 23,000
OFAHE SEHX Zg ) 29 X
65,000,000& * 14 65,000
| 32,500
Al 32,500
SSFAESEANLIZ2 )N 2H 12,400 12,400 0
| 6,200
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AZ: BZ2ER2 SM ASHAED

N HHSAAY|(NSHAED)(JIEHIIE)

CHRl: Ol 2 Y H (EERE
A2 .2 - FH A (SH) - MEAZE - BES 0] AFCH dE= Hns
== (=) o7l (2] . - = I e S ey or= 0:”/&,% W5

| | P EEEEEEE S 250,000 * 129 3,000
J|=2 A 24,100 39,700 A 15,600
I =AY 24,100 39,700 A15,600
201 YUBt2AH 16,500 22,900 AB,400
01 At ZelHl 16,500 22 900 6,400

O IPN=11] 11,250

oHHANREEDY 150,0009! * 122 1,800

o J|Ef4 2| 4,050,0009! * 14l 4,050

SARI|I| AQEQ 3,500,0008 * 1Al 3,500

ocpza=Ez 15,0002 * 4= * 12% 720

ST MTY(HXE) 180,000 * 14l 180

o8 & ZH| 42l 1,000,000 * 14l 1,000

OEEEI 5,250

ol|= A A

7,0002 * 158 * 502 5,250
202 01t 7,600 16,800 A9,200
01 2UH04H] 7,600 16,800 A9,200

ORI T=PS=CT 7,600,00091 * 14l 7,600
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43 pEey=N2 S DEHHY
Y NEN UEHY TH(LSYDE/HEDE - 255TIEH)
P UHSLSAME 245 (H:®2)
= =] XN xH Ctel (S = (o] HAX A} OH X‘—-IL‘EL‘:— =2}
it 15,756,340 14,491,806 1,264,534
= 465,000
Al 15,291,340
4 NEEE 2 (+SLuE/HEUE - 285D 15,507,100 14,463,000 1,044,100
& 465,000
Al 15,042,100
SUSAE 43t 15,507,100 14,463,000 1,044,100
& 465,000
Al 15,042,100
MIEUNSXRIIEESXE 12,000,000 12,000,000 0
307 212t01H 12,000,000 12,000,000 0
09 2=HHEELS 12,000,000 12,000,000 0
OMLETUSIHHA AL SI2)RHEZZ X
& 12,000,000,000& * 14l 12,000,000
AUBHA 2SAME HE XA 1,460,000 1,460,000 0
& 265,000
Al 1,195,000
307 212t01& 1,460,000 1,460,000 0
= 265,000
Al 1,195,000
00 2+HHEELS 1,460,000 1,460,000 0
OAMUHA Hi=ed HEXA
1,400,000,000& * 14| 1,400,000
& 250,000
Al 1,150,000
O8Xd 28 &424 60,000,000 * 14! 60,000
& 15,000
Al 45,000
MIISHIXAAS 23 5,000 3,000 2,000
307 212t01& 5,000 3,000 2,000
03 AMBIHMEZZ 5,000 3,000 2,000
OAtsl&xl XI& 5,000,000& * 14 5,000
WESIIHE AR 1,551,600 1,000,000 551,600
202 O4dl 1,600 0 1,600
01 =LHOA b 1,600 0 1,600
QUSIHEFTYR Kl
100,000& * 2% * 8¢ 1,600
307 212t01& 1,550,000 1,000,000 550,000
09 2+HHEXS 1,550,000 1,000,000 550,000
QOLSEE IEANAY XS
2,500,000 * 60CH 150,000
Ousitegol s K&
1,400,000,000& * 14| 1,400,000
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AT BB2EH2=XZ SN DEHHD
Mz 02BN NS PEH(LLLNS/HERS - SRSIIE)
S HERSAY 245t (5l &2
- _ _ Muo
A= 2M -3 - SAEH) - MRAY - BES Off &F K Ofl At ot Hws2
DEBOET 90,500 0 90,500
202 04t 10,500 0 10,500
01 2Uioib| 0,500 0 10,500
ONSYRFE ofHl 150,008 * 7% + 108l 0,500
402 RIHX20IH 80,000 0 80,000
01 PIZHXIZEE 80,000 0 80,000
ODHHAHY SLIILX K&
80,000,000 * 14! 80,000
SN =XER AE 400,000 0 400,000
= 200,000
Al 200,000
402 RIAR 20| 400,000 0 400,000
= 200,000
Al 200,000
01 PIIXF=EE 400,000 0 400,000
O =X5l2 AE X
400,000,008 * 14} 400,000
= 200,000
Al 200,000
HZS YA (RSB D) (JIEHIIEH) 16,240 28,806 ~12,566
ol 2ay| 4,740 4,800 260
ol 2| 4,740 4,800 260
203 HRFAY| 4,740 4,800 A60
04 BNSYYRETY] 4,740 4,800 A60
ORN2Y ge=x 395,002 * 122 4,740
o= 2yl 11,500 24,006 ~12,506
2 11,500 24,006 ~12,506
201 LByl 8,700 8,706 A6
01 A2l 8,700 8,706 A6
Ogeragt| 8,700
CHHALEBY| 270,009 * 122 3,240
AR L2ETY 300,000% * 122 3,600
oJIEt+ 8t 1,860,0002! * 14! 1,860
202 Oit| 2,800 15,300 £12,500
01 =2Uoibl 2,800 15,300 ~12,500
OJI2YR +80it| 2,800,0002 * 14! 2,800
WRES(DESFN)(+SLUDE/HEDS - 2RSIIEH 233,000 0 233,000
LA X = 233,000 0 233,000
TEDEBE 233,000 0 233,000
701 JIEBIHEES 233,000 0 233,000
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AR pPRH=NZ SN HRRHBICAENC
Hal: YSCHOR S8(2U2Y/23HH)
Ol USTQR EE - 84 (e @
_ _ _ N E
AR 2A - FY . (BH) - HIRAY - B Ofl & o Gil it o B2
oSS B I AENC 3,661, 101 2,442,298 1,218,803
3 1,000,000
= 28,406
= 200,000
Al 2,432,695
USCOH SH(SIUDZ/25TH) 2,094,201 1,677,048 417,153
= 28,406
Al 2,065,795
USCOM BZE - 84 1,690,706 1,213,460 477,246
2 28,406
Al 1,662,300
USHRH BAR 1,467,106 978,900 488,206
2 28,406
Al 1,438,700
201 Yer2o| 359,106 315,900 43,206
= 28,406
Al 330,700
01 AtR2elt] 31,900 25,500 6,400
SIS =1 5,500
CYNTIABEALLE
4,000,008 * 13] 4,000
CUSTURMA ERS A W
150,00020 * 105 1,500
om =] 4,000
oHQ® 22X 2K KA 8,0008 * 5000H 4,000
SEET 22,400
CHQHAY 22X 4|
7,00020 * 8 * 241 * 200 22,400
02 IZ2Y| 8,800 10,400 A1,600
O2ZRILMA 8,800
o - GHEEABE 4,800,008 * 14! 4,800
CHQH 2LAHE 200,002 * 55 * 43 4,000
03 A2 Y| 318,406 280,000 38,406
ofeEE2 ME 20,000,008 * 14! 20,000
OHIE, 88 28,20 2
75,000,008 * 14! 75,000
OBIE U HISHAlE YR 60,000,000 * 14 60,000
OO0ISaHEA 3t 32,000,008 * 14! 32,000
OBQF LA HE8% 20,000,002 * 14 20,000
OUQRF 2LALS HHEY
20,000,008 * 14! 20,000
OBAZ Ol0f24 Ut 5,000,008 * 14! 5,000
CELER-: 500,0008 * 25 1,000
OCIR HIZ, Bl 2 xt 7,000,008 * 14! 7,000
OHeN E220PIY 50,000, 0002 %14} 50,000
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AT EB2EHEXZ SN HRRHEE +
M2 ASHRN SH(SHLB/SHI)
. YSURN BE - 84 (e @
_ _ HE T
=24 -3 -H2A(SH) - NRAY - BEZ Of Ol AF o8 Hws2
OUYSCSM E2(2H)  28,406,0002 14 28,406
= 28,406
301 LB AI 63,000 63,000 0
10 BAAHI 242 63,000 63,000 0
OSHE N &Il
,000,0002 * 21S2S 63,000
307 212+0IH 860,000 600,000 260,000
04 DI AL 860,000 600,000 260,000
O=Retes &) Y UM &
10,000,008 * 14} 10,000
OLSCTHH SAHOIAIOIEH R BHOF S T &
850,000,000% * 14! 850,000
401 AEHI2L S0 185,000 0 185,000
01 Al&| 50,000 0 50,000
OSSR ot& BIEEEl 10,000,000 * 1A 10,000
OHe® 25HA X  10,000,0002 * 14 10,000
OSRH si+7 H| 10,000,002 * 14} 10,000
OBAANLES FH 2 24
20,000,0002! * 14! 20,000
04 BALZHRIAI& Y] 135,000 0 135,000
O=Ci2l&x L o 5,000,009 * 14} 15,000
OHFIID &X L B
20,000,0002! * 14! 20,000
OFIISAAA x| 10,000,002 * 14} 10,000
OANY +EH X 10,000,009 * 14} 10,000
OMEZR, JUlE =l 5,000,000%! * 14! 5,000
OBAZ FHIH| 5,000,008 * 14! 5,000
OJIEH #ALR AIEFHl  30,000,0002 * 14 30,000
OIQ8Ab TS &% 20,000,000 * 14 20,000
OLEDZ 40 &X 20,000,008 * 14! 20,000
USHRH BN 30,000 200,000 ~170,000
307 212+0IH 30,000 0 30,000
02 IANBAEE 30,000 0 30,000
OLSHUH MSSH AP 30,000,000 14! 30,000
YSCH JI=E At 40,000 20,000 20,000
201 Yer2 Y| 40,000 0 40,000
02 ZZ2Y| 40,000 0 40,000
OHREEXE JY L LTEN XS4
40,000,009 * 144 40,000
USHOR 2E - SHAMY 2F | 13,600 14,560 A960
202 048] 10,600 1,560 A960
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A3 BYRI=NZ SN HQEEICAZAD
HH: USCHOH S8 (2HLBZ/2ST)
Ol USTQR EE - 84 (el &
- _ _ Muo
AR .2 HH . C(E) - HRAY - BLS Ofl AF o4 il b o B2
01 2L40iH] 10,600 11,560 960
OYSCQN BESH 29|
10,600,0002 * 14} 10,600
203 YREZY| 3,000 3,000 0
03 AlZ =T =Y 3,000 3,000 0
OHQEA S4 AMETY)
3,000,008 * 14! 3,000
SR25 2 AL 125,000 0 125,000
307 eI2H0I 125,000 0 25,000
02 pIANBNBE 125,000 0 125,000
ORHILESBTAINE AS2 22|
92,000,0008 * 14} 92,000
ORHIRESHTAIE 2HES X2
13,000,0008 * 14} 13,000
ORE2ER MM &
10,000,0002 * 14} 10,000
ORMEAE 210 LA A
10,000,008 * 14} 10,000
2NSHSHCANEH 29 15,000 0 15,000
201 L2y 13,000 0 13,000
01 ALRelt] 3,000 0 3,000
O=ZIAs 59 M+
3,000,008 * 14! 3,000
03 A2 Y| 10,000 0 10,000
OSHEER L A £
10,000,0008 * 14} 10,000
202 01t 2,000 0 2,000
01 2LjoiH| 2,000 0 2,000
ORHDE2BTAZE UREA
2,000,008 * 14! 2,000
Ysooesa 29 403,495 463,588 260,003
YscoRsn 22l 2 29 403,495 463,588 260,003
101 @121t 63,995 59,320 4,675
VB EEEERS 63,995 59,320 4,675
OHe2sB2Y IRy (HI|) 24,755
oll=g 75,7002 * 18 * 2302 17,411
S 75,7002 * 195 * 462 3,483
oA 75,7002 * 198 * 112 833
oA 4G 75,7002 * 198 * 402 3,028
OHe2sm2Y LA (IH) 19,620
ollE3 60,0002 * 18§ * 2302 3,800
oxg4Y 60,0002 * 1% * 462 2,760
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A 2AFEI=ERXN= PN HLRHFEXE t
Y BECUH SH(2SL2AF/25)
. YECeSsE 29 cro @ el
SN EM S (BT) - MBAY - B 0 S e st
0 &t
oI 2032 HEsl A3l
3,500,000& = 13 3,500
oZst2 EHO0IX KXlZcl
500,000& * 43| 2,000
O« Z | 9,760
oBdHAZY| 1,800,000& * 23| 3,600
o2 AR 1,000,000& * 43 4,000
oXI| HZHI 180,000 * 123 2,160
OA&EEHI 7 XYl 38,410
ocA2 /Al 500,000& * 12& 6,000
o & Hl= Xl 500,000& * 12& 6,000
odizsI| M2 Jul 5,000,000 * 14 5,000
oZX)| EH W& 3,000,000& » 14 3,000
oMAlA FAZEH SA 224l
2,000,000& * 14 2,000
oxHfME B SR
5,000,000& = 14] 5,000
oRUAY ZEEXFHl 22l
6,410,000& * 14 6,410
o=4 JIAHMHNHE WA 5,000,000 * 14! 5,000
03 A2 6,000 0 6,000
OJI183H 222 M
1,000& * 43| = 1,000% 4,000
OJEBY SR M
100,000& * 2& + 103 2,000
301 LetEA3 46,000 30,000 16,000
10 At HI 242 46,000 30,000 16,000
OJ18 4850 £¢0E 24
30,000,000& » 14 30,000
OXEZstual 2AF 24 8,000,000& » 14] 8,000
OHQIH= XN&E ZZ2 )82 A B4
8,000,000& = 14 8,000
307 QI2tol™ 15,000 15,000 0
02 QIZtABAE X 15,000 15,000 0
Ote=sta 28 BX 15,000,000& = 14 15,000
401 AIEHIZ 2O 105,000 200,000 A95,000
01 Al&HI 105,000 200,000 295,000
Ottt AI&Edl & AIE A
15,000,000 * 14 15,000
OttEstat d&E LA
50,000,000 * 14 50,000
OHEstat SHE JIAFH P2
40,000,000& * 14 40,000
405 &t SH| 5,000 0 5,000
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A= BYR=NZ SN HRRSFETAEG
3 SO SH(SHLBB/SEHI)
ool ASHRRME 2Y (25l &2
- _ _ Muo
AR .2 (FH) - NRAY - BAES Off &F oA il b o bRz
01 RMUSEHSH| 5,000 0 5,000
OOXEIOot: 7 5,000,0002! * 14! 5,000
ARSI AR B I|BIE S (S U DY/ BT 1,552,000 750,000 802,000
z 1,000,000
= 200,000
Al 352,000
AOPHNZI|E HRTAl BEOISD] 1,552,000 370,000 1,182,000
z 1,000,000
= 200,000
Al 352,000
S=EL IR S~ 1,500,000 0 1,500,000
= 1,000,000
= 200,000
Al 300,000
401 AIEHIL2CH] 1,500,000 0 1,500,000
z 1,000,000
= 200,000
Al 300,000
01 Al 1,493,000 0 1,493,000
OAl&H 1,493,000
CHRRE ORI T4 ALY
82,000,0002 * 14 82,000
= 41,000
= 8,200
Al 32,800
cHR2E0 AT BA
1,411,000,0008 * 14! 1,411,000
z 955, 500
= 191,100
Al 264,400
03 Al&=THYl 7,000 0 7,000
OA& =D 7,000
CcHR25o )2 x4 Al
7,000,008 * 14! 7,000
= 3,500
= 700
Al 2,800
ASCQFEALET AR 50,000 0 50,000
401 AIZHIL 2T 50,000 0 50,000
01 Al 50,000 0 50,000
ORSBALEES F8 ZAXY
50,000,0002 * 14} 50,000
20PN BIIE HRTA YSUSIAL2 Y| 2,000 0 2,000
202 Oit| 2,000 0 2,000
01 2hoit] 2,000 0 2,000
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0z N>
2

-—

S - T .S (3]H]) - MEA o gggf; HRS2
OZOHANEI = ST Al OHSI| A2
EEE] * 1Al 2,000
L H(SH ST A=) (IIEHDIE) 14,900 15,250 A 350
u] 3,000 3,000 0
2| 3,000 3,000 0
HAR=X 3,000 3,000 0
FA2gd 3,000 3,000 0
ORMA2d 250,000& = 12& 3,000
11,900 12,250 A 350
Hl 11,900 12,250 A 350
B2 AH| 7,900 7,700 200
01 At22teldl 7,900 7,700 200
O#HH AR 200,000& = 73| 1,400
O A& &H| %2l 100,000& * 45 * 33| 1,200
(OF=1=1s] 400,000& = 128 4,800
OZLEE AN FHI 100,000& * 53| 500
04 Hi 3,600 4,050 A450
=LH O H| 3,600 4,050 A450
OJI2g2+ bl 400,000& = 9H 3,600
NS =Tl 400 500 A 100
ML Z2SFH S 400 500 A 100
OotXxgatner ¢ 400,000& = 1CH 400
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